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SIl. No.1
QBID:167001

The legend ‘Basileos’ on the Indo-Greek coins means :

1. Mahan

2. Maharaja
3.Raja

4. Rakshaka
(1) 1

(2) 2

3) 3

(4) 4

ZUs i gareil R siferd SRifaw 9@ F1 o wrge

1. Held
2. HeRnell
3.0
4. &P
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15601]
2[Option ID=15602]

3[Option ID=15603]
4[Option ID=15604]

Sl. No.2
QBID:167002

The Makaravahini Ganga is depicted on which coin type of Samudragupta ?

. Archer type

. Battle axe type

. Tiger-slayer type
. Lyrist type

(1) 1

(2) 2

(3) 3

(4) 4
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(4) 4

1[Option ID=15605]
2[Option ID=15606]
3[Option ID=15607]
4[Option ID=15608]

Sl. No.3
QBID:167003

Copper tablets with the leaf-clad ‘Hunter’ with a bow and arrow are found from the site of :

1. Baror
2. Surkotda
3. Balu
4. Mohenjodaro
(1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=15609]
2[Option ID=15610]
3[Option ID=15611]
4[Option ID=15612]

Sl. No.4
QBID:167004

Which of the following archaeological sites gives the evidence of date and garlic ?

. Sangho
. Hulas
. Kunal
. Balu
(1) 1

(2) 2

3) 3

(4) 4

foh qRRUE 9 WoR Ud ey & YHIU W 84 & 2

1. g9id
2. g
3. pUNd
4. dc],

1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=15613]
2[Option ID=15614]
3[Option ID=15615]
4[Option ID=15616]

Sl. No.5
QBID:167005

The terms of ‘Sorath Harappan’ and ‘Anarta Harappan’ are used for which of the following Harappan regional
area ?

. Haryana

. Gujarat

. Rajasthan
. Punjab

b =

e Ll

(1) 1
(2) 2
(3) 3
(4) 4
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1. ghemn
2. ORI
3. oI
4. Gollg

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=15617]
2[Option ID=15618]
3[Option ID=15619]
4[Option ID=15620]

Sl. No.6
QBID:167006

Name the site situated in the Khavada island of the Rann of Kutch :

. Juni Karan
. Dholavira
. Kuntasi

. Surkotada
(1) 1
(2) 2
3) 3
(4) 4
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1. SR
2, YIAdRT

3. Pardl
4. PDICY]

1) 1

() 2

3) 3

(4) 4
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1[Option ID=15621]
2[Option ID=15622]
3[Option ID=15623]
4[Option ID=15624]

Sl. No.7
QBID:167007

The distinetive chalcolithic culture of Maharashtra 1s known as :

1. Malwa culture
2. Ahar culture
3. Kayatha culture
4, Jorwe culture
(1)1
(2) 2
(3) 3
(4) 4
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1[Option ID=15625]
2[Option ID=15626]
3[Option ID=15627]
4[Option ID=15628]

Sl. No.8
QBID:167008

The period Vth at Daimabad is associated with :

1. Banas culture
2. Ahar culture
3. Malwa culture
4, Jorwe culture

(1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=15629]
2[Option ID=15630]




3[Option ID=15631]
4[Option ID=15632]

Sl. No.9
QBID:167009

Who has stated that the Harappan religion had a Shamanistic component ?

1. Upinder Singh
2. Vibha Tripathi
3. Vidula Jayaswal
4. Shereen Ratnagar
(1) 1
(2) 2
(3) 3
(4) 4
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(1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=15633]
2[Option ID=15634]
3[Option ID=15635]
4[Option ID=15636]

Sl. No.10
QBID:167010

Who 1s credited with the initiation of rock-cut architecture in South India ?

1. Simhavishnu
2. Mahendravarman — I
3. Narasimhavarman — I
4, Paramesvaravarman — [
(1) 1
(2) 2
(3) 3
(4) 4

TR YR ¥ Qaigd aRg-mir o 3 6 g s g

L o

RRETEA -1
4. URHRGHA -1

(1) 1

(2) 2

3) 3
(4) 4

LA T N Ry

1[Option ID=15637]
2[Option ID=15638]
3[Option ID=15639]
4[Option ID=15640]




Sl. No.11
QBID:167011

The Arthashastra refers to the term ‘Kuta — Rupakarka’ which meant ?

. Counterfeiters of coins
. Incharge of the mint
3. Maker of the coin

4. Issuing authority

b =

(1) 1
(2) 2
(3) 3
4) 4
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1) 1

(2) 2

3) 3

(4) 4
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1[Option ID=15641]
2[Option ID=15642]
3[Option ID=15643]
4[Option ID=15644]

Sl. No.12
QBID:167012

The year of issue in numerals was first introduced on the obverse of the coins of :

1. Satavahana
2. Chola

3. Shaka

. Pandya

(1) 1

(2) 2

3) 3

(4) 4
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(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=15645]
2[Option ID=15646]




3[Option ID=15647]
4[Option ID=15648]

Sl. No.13
QBID:167013

Which scholar has accepted the theory of Bactrian effect with respect to the origin of Indian coins ?

. James Princep

. V.A. Smith

. D.R. Bhandarkar
. John Allen

(1) 1

(2) 2

3) 3

(4) 4
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1. oy fUigg
2.491. 4. [y
3. 31, 3R, YUSTHR
4. SF Ud
1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=15649]
2[Option ID=15650]
3[Option ID=15651]
4[Option ID=15652]

Sl. No.14
QBID:167014

The system of issuing biscriptal coins was introduced in India by :

1. Indo — Bactrians
2. Indo — Greeks
3. Indo — Scythians
4. Indo — Parthians
(1) 1
(2) 2
3) 3
(4) 4
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. 303! - OTfifgs

(1) 1

(2) 2

3) 3

4) 4
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1[Option ID=15653]
2[Option ID=15654]
3[Option ID=15655]
4[Option ID=15656]




Sl. No.15
QBID:167015

The Gadhaiya coins of Western India were regional imitation of Proto-types of :

. Sasanians
. Bacirians
. Persians

. Parthians

(1) 1
(2) 2
3) 3
4) 4
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1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15657]
2[Option ID=15658]

3[Option ID=15659]
4[Option ID=15660]

Sl. No.16
QBID:167016

The Petlurivaripalem hoard consisting of coins of western kshatrapa dynasties was discovered from :

1. Guntur
2. Madras
3. Hydrabad
4, Madurai
(1) 1
(2) 2
3) 3
(4) 4
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1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15661]
2[Option ID=15662]

3[Option ID=15663]
4[Option ID=15664]

Sl. No.17
QBID:167017




The site of Elephanta was named by :

1. British
2. Portuguese
3. French

B S

1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=15665]
2[Option ID=15666]

3[Option ID=15667]
4[Option ID=15668]

Sl. No.18
QBID:167018

The earliest epigraphic reference to Samaveda is from :

1. Damaro
2. Sirpur
3. Malhar
4. Tarighat

(1) 1

(2) 2

(3) 3

(4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15669]
2[Option ID=15670]

3[Option ID=15671]
4[Option ID=15672]

Sl. No.19
QBID:167019




The earliest arched decoration can be seen on the doorway of :

. Lomas Rishi cave
. Sudama cave

. Sitamarhi cave

. Gopika cave

k2 =

]

(1) 1
(2) 2
(3) 3
4) 4
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1. TS RN el
2. Y& Rl
3. Hidmdl 7T
4. USRI
1 1
() 2
(3) 3
(4) 4

1[Option ID=15673]
2[Option ID=15674]
3[Option ID=15675]
4[Option ID=15676]

Sl. No.20
QBID:167020

Which of the following sites is not located in Punjab ?

. Ropar

. Semtha

. Sanghol
. Sugh
(1) 1

(2) 2

3) 3

(4) 4
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1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15677]
2[Option ID=15678]

3[Option ID=15679]
4[Option ID=15680]

Sl. No.21
QBID:167021




Ancient Kapilavastu 1s identified with :

1. Piprahwa
2. Ganwaria
3. Alamgirpur
4. Ahichchhatra
(1) 1
(2) 2
3) 3
(4) 4

WTEE SiUdas] & UgdH (e 1Y &1 1T g 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15681]
2[Option ID=15682]

3[Option ID=15683]
4[Option ID=15684]

sl. No.22
QBID:167022

Which of the following journals is not published by the Archaeological survey of India 7

1. Indian Archaeology — A Review
2. Ancient India
3. Corpus Inscriptionum Indicarum
4. Ancient Asia

(1) 1

(2) 2

3) 3

(4) 4

9 & T 9 SFid &1 UDIRH YR RIad A&l gRT ol [al 71§ 2

. giosT anfdarere-g-Rag
U= sisan

H1Ug SO T Salby
. UiRrgue uiRm

1) 1

(2) 2

(3) 3

(4) 4

TR

1[Option ID=15685]
2[Option ID=15686]
3[Option ID=15687]
4[Option ID=15688]

Sl. No.23
QBID:167023




The term ‘prehistory’ was coined by :

. C.J. Thompsen
. Daniel Wilson
. John Lubbock
. R.B. Foote

(1) 1

(2) 2

(3) 3

(4) 4
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(1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=15689]
2[Option ID=15690]
3[Option ID=15691]
4[Option ID=15692]

Sl. No.24
QBID:167024

Who has argued that the personage on the famous ‘Pasupati’ seal 1s not male but female ?

.B.B.Lal

. R.5. Rao
. S.M. Atre
. ML.S. Vats
1) 1

(2) 2

(3) 3

4) 4

IR Ui’ e I2Y -Tol Wl P 6, T (a1 6 2

dl & e
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. Y. 0. 3
. UH.09. 9
(1) 1

(2) 2

(3) 3

(4) 4

k2 =

S ]

e b

1[Option ID=15693]
2[Option ID=15694]
3[Option ID=15695]
4[Option ID=15696]

Sl. No.25
QBID:167025




The evidence of Carnelian heating kiln has been found from the site of :

. Dholavira

. Ganweriwala
. Lothal

. Rojadi

(1) 1

(2) 2

(3) 3

4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15697]
2[Option ID=15698]

3[Option ID=15699]
4[Option ID=15700]

Sl. No.26
QBID:167026

Who was the first woman Director General of the Archaeological survey of India ?

. Debala Mitra

. Anshu Vyas

. Usha Sharma

. Archana Moulick
(1) 1

(2) 2

(3) 3

4) 4
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1[Option ID=15701]
2[Option ID=15702]
3[Option ID=15703]
4[Option ID=15704]

Sl. No.27
QBID:167027




Who proposed the theory of the ‘Saraswati drying up’ for the decline of the Harappan Civilization ?

. E.J. Mackay

. Suryabhan

3. R.L. Raikes

4, Mortimer Wheeler

(1) 1

(2) 2

(3) 3

(4) 4

a8 ® I [AgH & foRH 51 911 & Y- & BRI & IR 741 & J@- &7 9d wiaaied fparg »

1. 5.9 8%
2. gyH
3. SN, Uel. XIgRT
4. TR @R
(1) 1
(2) 2
@3) 3
(4) 4

k2 =

1[Option ID=15705]
2[Option ID=15706]
3[Option ID=15707]
4[Option ID=15708]

Sl. No.28
QBID:167028

The evidence of fisherman with a net painted on a pot is found from the site of :

. Mohenjodaro
. Harappa

. Kalibangan

. Rakhigarhi
(1) 1

(2) 2

(3) 3

(4) 4
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(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15709]
2[Option ID=15710]

3[Option ID=15711]
4[Option ID=15712]

Sl. No.29
QBID:167029




Which of the following Mesolithic sites was not excavated by V.N. Misra ?

1. Tilwara
2. Bhimbetka
3. Adamgarh
4, Bagor

(1) 1

(2) 2

(3) 3

4) 4
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(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15713]
2[Option ID=15714]

3[Option ID=15715]
4[Option ID=15716]

Sl. No.30
QBID:167030

The open air primary occupation Acheulian site of Paisara 1s situated in

1. Maharashtra
2. Uttar Pradesh
3. Karnataka
4, Bihar

(1)1

(2) 2

(3) 3

(4) 4

sew

FAlcH
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R

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=15717]
2[Option ID=15718]

3[Option ID=15719]
4[Option ID=15720]

Sl. No.31
QBID:167031




The Acheulian site of Isampur is situated in :

. Narmada valley
. Gangetic valley
3. Banas valley

4. Hunsgi valley

k2 =

(1) 1
(2) 2
(3) 3
4) 4

URGE [RIA S2THYR $ol Haleyd § ?

1[Option ID=15721]
2[Option ID=15722]
3[Option ID=15723]
4[Option ID=15724]

Sl. No.32
QBID:167032

Name the Director General under whom the responsibility of conservation was taken away from the States and
given to the Director General of ASI.

. A. Cunningham
. M. Wheeler

. John Marshall
. K.N. Dikshit
(1) 1

(2) 2

(3) 3

(4) 4

e HRTi-ERIa & Sitfi= WRe0T 31 feR] I ¥ RIFIRG B3P Heli-ax®, YRdg GRIaw Ha&mm
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1. U ofHgq
2. UH. ®IeR
3. Wil Tefa
4. . A, difé
1 1
) 2
(3) 3
(4) 4

e L b

1[Option ID=15725]
2[Option ID=15726]
3[Option ID=15727]
4[Option ID=15728]

Sl. No.33
QBID:167033




The stone age site of Anangpur is situated in :

. Haryana

. Uttar Pradesh

. Himachal Pradesh
. Gujarat

(1) 1

(2) 2

(3) 3

4) 4

TR QI QR SHTQR @8l RUd § 2
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. IR HSRT
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15729]
2[Option ID=15730]

3[Option ID=15731]
4[Option ID=15732]

Sl. No.34
QBID:167034

The *Treasure Trove Act’ of 1878 was brought by :

. Duke of Argyll

. 8ir Stafford Northeate
3. Lord Lawrence
4. Lord Lyton

(1)1

(2) 2

(3) 3

(4) 4

| S

1878 & “QRIHY Fara sifefge feogd gry emar i 2

1. Y& AHB 3RMA
2. WEHTS Tidde
3. @8 IR
4. @18 fore

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=15733]

2[Option ID=15734]

3[Option ID=15735]
4[Option ID=15736]

Sl. No.35
QBID:167035




Which of the following sites is identified as the birthplace of Varahamihira ?

. Dangwada
. Nagada

. Ujjain

. Kayatha

k2 =

R ]

(1) 1
(2) 2
(3) 3
4) 4

8 7 ¥ forg Ryd &1 UgaH arIe el & o i & =0 4 &1 1§ 2

1. gI@rst
2. 1T
3. IwH
4. FIOYT

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=15737]
2[Option ID=15738]
3[Option ID=15739]
4[Option ID=15740]

Sl. No.36
QBID:167036

Which of the following 1s the first Mesolithic site 1n India excavated from which animal and human skeletal
remains were systematically recovered and studied by the experts ?

1. Langhnaj
2. Attirampakkam
3. Nevasa
4. Sarai Nahar Rai
(1) 1
(2) 2
3) 3
(4) 4

{15 1 9 g gy YR 99 UTiiiTe RIS & Soa-+ 9 BFd Ud 93 & SRy 3aey oaiedd By
T U1 g4 § ofR fomaT steraH fagHi g1 fdar man g 2

1. A
2. fcRAYGHH
3. Har
4. TG g
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15741]
2[Option ID=15742]

3[Option ID=15743]
4[Option ID=15744]

Sl. No.37
QBID:167037




Which is the earliest language used in the Asokan ediets ?

. Prakrit

. Pali

. Sanskrit
. Aramaic
(1) 1

(2) 2

(3) 3

(4) 4

R F SifirerRal H yged TRES YT S A1 § 2

L. Wpd
2. 91

3. §%pd
4. RUSH
1) 1
(2) 2
3) 3
4) 4
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1[Option ID=15745]
2[Option ID=15746]
3[Option ID=15747]
4[Option ID=15748]

Sl. No.38
QBID:167038

Which Gupta inscription adores the deity sun in the name of ‘Bhaskara’?

1. Mandsor Inscription
2. Indore Copper Plate
3. Allahabad Pillar Inscription
4. Eran Inscription
(1) 1
(2) 2
(3) 3
(4) 4

forg e sifirerg o g7 dadl, e A sfifgd g 2
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1) 1

2 2

(3) 3

4) 4
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1[Option ID=15749]
2[Option ID=15750]
3[Option ID=15751]
4[Option ID=15752]

Sl. No.39
QBID:167039




The Epigraphical branch of the Archaeological survey of India was established in :

. 1885
. 1886
. 1887
. 1888
(1) 1
(2) 2
(3) 3
(4) 4

YR QRICTE HA&UT 1 HILeRa AT 1 RITIAT fog o &1 Tt 2

. 1885
. 1886
. 1887
. 1888
(1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=15753]
2[Option ID=15754]
3[Option ID=15755]
4[Option ID=15756]

Sl. No.40
QBID:167040

The Kailasha temple at Ellora has how many subsidiary shrines.

e 2 2
[ R T ENR

1) 1
(2) 2
(3) 3
(4) 4
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1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15757]
2[Option ID=15758]

3[Option ID=15759]
4[Option ID=15760]

Sl. No.41
QBID:167041




Kushans mainly used which of the following metals for the coins issued 7

A. Gold
B. Copper
C. Silver
D. Bronze

Choose the correct answer from the options given below :

1. A and C only
2. Aand D only
3. Aand B only
4. B and C only

(1) 1

(2) 2

3) 3

(4) 4

DU &R g@d: 9 1 9 fog u1g &1 gerd Rl 1 7% -

A, WGl
B.dH

C. Ioid
D. Bl

=i fou 7Tg fowedl § ¥ T8l SR o1 99 DIfoy -

1. HBITAARC
2. BT A IRD
3. %ad A 3R B
4. HIAB AR C

(1 1

(2) 2

(3) 3

(4) 4

1[Option ID=15761]

2[Option ID=15762]

3[Option ID=15763]
4[Option ID=15764]

Sl. No.42
QBID:167042

Which of the following dynasties issued bilingual and biseript coins?

A. Greek

B. Shaka

C. Parthians
D. Kshatrapas

Choose the correct answer from the options given below :

. A, B and C only
.B, Cand D only
A, Cand D only
A B.Cand D
(1) 1

(2) 2

kg =
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3) 3
4) 4

ferumeitg SR feferdia Riee! @1 4 8 9 fogi SR i -

A Ul®
B. Y&
C. arfefa
D, &4Y

< {4U 70 [l 1 ¥ 9ol 3 &1 944 HioTy

1. PAAA, B AR C
2. HAAB, C AR D
3. HAA A, C AR D
4. BAAA, B, C IR D
(1) 1
2) 2
3) 3
(4) 4

1[Option ID=15765]
2[Option ID=15766]
3[Option ID=15767]
4[Option ID=15768]

Sl. No.43
QBID:167043

Which of the following Indo — Greek rulers are depicted in different ages from young to old on their coins
indicating their long rule?

A. Menander
B. Strato 11
C. Strato [
D. Agathoclia

Choose the correct answer from the options given below :

. A and D only
. B and C only
. A and B only
.Aand C only
(1) 1
(2) 2
3) 3
(4) 4

b =

=S




9 8 9 o 3 3Us1-H® US| & e Ra®! IR 39 441 3 §< §1F &1 [4d 311 B G2ial § ol 31
T I &1 o e 82

= f4u 778 fad el O O el 3 &1 99+ Diford

1.%dd A AR D
2. %BaaB AR C
3. ®dd A 3R B
4. BITAARC

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15769]
2[Option ID=15770]

3[Option ID=15771]
4[Option ID=15772]

Sl. No.44
QBID:167044

Which of the following river valleys are located in Chhattisgarh?

A. Jonk

B. Shivanath
C. Brahmani
D. Narmada

Choose the correct answer from the options given below :

. A and B only
.Aand C only
. B and C only
.B and D only
(1) 1
(2) 2
(3) 3
(4) 4

e L2 D =




g 5 o <t =21 urfedf adae ¥ sefea g

A Slf&
B. gy
C. sigHl
D. THg]

e fau e fawedl & ¥ et SR &1 90T Bife -

1. Had A IR B
2. Had A AR C
3. Pad B AR C
4. HadAB 3R D

1 1

(2) 2

@3) 3

(4) 4

1[Option ID=15773]

2[Option ID=15774]

3[Option ID=15775]
4[Option ID=15776]

Sl. No.45
QBID:167045

Stratigraphy refers to the accumulation of strata that results from the combination of

A. Geological deposits

B. 5ilt deposits

C. Anthropogenic deposits
D. Depositional deposits

Choose the most appropriate answer from the options given below

. A and B only
.B and C only
. A and C only
.Aand D only
(1) 1
(2) 2
3) 3
(4) 4

TRIDHI0 TR & SH1d &I Hefid Tedl & ol i 390 (e &1 9oy &2

A. Y-mifg oHra

B. §¢ H1G

C. Ararg Tiafafy & e
D. SH1d SHE

|

e el

i fau U faeedl 0 § 9ad Iugad STk &1 999 S ;

1. BddT A AR B
2. FAAB IR C
3. Pad A dRC
4. BT A ARD

(1) 1




(2) 2
(3) 3
(4) 4
1[Option ID=15777]
2[Option ID=15778]

3[Option ID=15779]
4[Option ID=15780]

Sl. No.46
QBID:167046

Which of the following are the type of Entryways?

A. Pratoli

B. Gopura
C. Torana

D. Jagati

Choose the correct answer from the options given below :

1. A, B and D only
2. A, CandD only
3. A,Band C only
4.B, C and D Only

1 1

2) 2

(3) 3

(4) 4

9 4 9 B U= R $1 a0l 62

A Jdrdl
B. MY
C. a0

D:GPTFET
i< fau U fab el | I "al 31k I 99 Difor

1. HAA A, B3R D
2. $9d A, C 3R D
3. Hdd A, B3R C
4. HAA B, C 3R D

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=15781]
2[Option ID=15782]
3[Option ID=15783]
4[Option ID=15784]

Sl. No.47
QBID:167047




Which of the following are reference styles?

A APA
B.MLA
C.ICT
D. GIs

Choose the correct answer from the options given below :

. A and B only
.Aand C only
.B and C only
.B and D only
(1) 1
(2) 2
3) 3
(4) 4

5 & 9 H-21 Ha forgH @l usfa g2

ATTOLT
B.UH.TA. T
C. 3. 4. &,
D. oft, 3118, 79

=i fau T fowedl O ¥ Het SR &1 997 B -

1. HdT A ARB
2. HadA AR C
3. Pad B AR C
4. HIAB ARD

(1) 1

) 2

3) 3

(4) 4

|

S ]

1[Option ID=15785]
2[Option ID=15786]
3[Option ID=15787]
4[Option ID=15788]

Sl. No.48
QBID:167048

Which of the following features were introduced by the Shungas in their art?

A. Stone as a medium

B. Court patronage

C. Introduction of human form in large scale
D. Flowing linear rhythm

Choose the most appropriate answer from the options given below :

. A, B and C only
LA, Cand D only
.B, Cand D only
A, Band D only
(1) 1
(2) 2

kg =

S ]




3) 3
4) 4

YN ERI S P &7 5 9 3 4 D I faur 31 gard o1

A. YR &1 0190 =9 T Jgi

B. A4

C. HHaIPId &1 85 UHM IR IR
D. 3@ YdIg

i fau U faeedl 0 § 9ad Iugad STk &1 999 S ;

1. PAAA, B AR C
2. BAAA, C 3R D
3. %GB, C AR D
4. HBdAA, B IARD

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15789]
2[Option ID=15790]

3[Option ID=15791]
4[Option ID=15792]

Sl. No.49
QBID:167049

Which of the following early farming sites are located in Odisha?

A, Golba:

B. Chirand

C. Deltihuda
D. Bhartihuda

Choose the most appropriate answer from the options given below :

. A, B and C only
A, B and D only
.B, Cand D only
A, Cand D only
(1) 1
(2) 2
3) 3
(4) 4

b2 =

S ]




9 o ¥ o I URMe oY & e e o safid g2
A Tiaag
B. fRig
C. dadigsl
D. HRdIgsT
= AU U faeedl ¥ 9 a3 Iugdd TR &1 999 S ;

1. AT A, B 3R C
2. %A A, B 3R D
3. %ad B, C AR D
4. BATA, C 3R D

1 1

(2) 2

(3) 3

(4) 4

1[Option ID=15793]
2[Option ID=15794]
3[Option ID=15795]
4[Option ID=15796]

Sl. No.50
QBID:167050

Which of the following temples are not constructed by the Somvanshi rulers?

A Lingaraja temple

B. Parashurameswara temple
C. Brahmeswara temple

D. Vaitala temple

Choose the correct answer from the options given below :

. A and B only
. B and C only
.C and D only
.B and D only
(1) 1
(2) 2
3) 3
(4) 4

grash weef & g g s Fufafga g e sR w el o2

A, e dfex
B. IRYREY AfR
C. SRR T

D. dard Hfex

- feu e fawedl 7 ¥ Het SR &1 90T BIf -

1. Bdd A AR B
2. HadB AR C
3. %ad C AR D
4. HIAB ARD

(1) 1

| i ]

N S




(2) 2
(3) 3
(4) 4
1[Option ID=15797]
2[Option ID=15798]

3[Option ID=15799]
4[Option ID=15800]

Sl. No.51
QBID:167051

Which of the following tools are from upper Palaeolithic period?

A. Re-touched Blade

B. Aurignacian Burin

C. Aurignacian end scraper
D. Cleaver

Choose the most appropriate answer from the options given below :

.Aand B only
.A, B and D only
. A, B and C only
.B., Cand D only
(1) 1

(2) 2

(3) 3

(4) 4

frafafead & @ 19 SUBul 3= GRIUTNI H1e & &2
A ficess wis
B. SRNHREA oA
C. IRNTREA 308 ®hWR
D. FilaY

e 13U 70 fddedl 1 ¥ Yol 3 &1 94 DioTy ;

| S

e T2

1[Option ID=15801]
2[Option ID=15802]
3[Option ID=15803]
4[Option ID=15804]

Sl. No.52
QBID:167052




Which of the following Journals are published by Indian Archaeological Society, New Delhi?

A, Puratattva
B. Ancient India
C. Pragdhara
D. Pura Pravaha

Choose the most appropriate answer from the options given below :

. A and B only
.Aand C only
.B and D only
.Aand D only
(1) 1
(2) 2
3) 3
(4) 4

(5 T 9§ &1 I e YRAY QRIGwW YRS gRIYSId S 71 o7

A. @

B. UfRgue 2fsar
C. UTRT

D. TR-HdT8

14 feu Tt faeedl © ¥ G99 Sugad SR &1 98- BHIful :

1. HdT A ARB
2. Had A AR C
3. Pad B AR D
4. BT A ARD

(1) 1

) 2

(3) 3

(4) 4

|

S ]

1[Option ID=15805]
2[Option ID=15806]
3[Option ID=15807]
4[Option ID=15808]

Sl. No.53
QBID:167053

Which of the following sites are not excavated by A.K. Sharma?

A. Sirpur
B. Pachrahi
C. Rajim
D. Malhar

Choose the most appropriate answer from the options given below :

. A and B only
. Aand C only
. B and C only
.B and D only
(1) 1
(2) 2

kg =

S ]




3) 3
4) 4

fFrofafad & ¥4 o Ry T F. 39! gR1 S T8 82
A FRQR
B. UeRTal
C. ey
D. Hegl
< {4U 70 [l 1 ¥ 9ol 3 &1 944 HioTy

1. Bdd A AR B
2. FAAAIRC
3. PadB AR C
4. HIAB ARD

1 1

) 2

@3) 3

(4) 4

1[Option ID=15809]
2[Option ID=15810]
3[Option ID=15811]
4[Option ID=15812]

Sl. No.54
QBID:167054

Mayamata uses the following terms for an apsidal temple

A. Hastiprishtha
B. Dviyashravritta
C. Shala

D. Harantara

Choose the correct answer from the options given below :

. A and B only
.B and C only
. A and D only
. Cand D only
(1) 1
(2) 2
3) 3
(4) 4

B R




Tl YRTHR HieR! & ford gamd H o6 wrsal &1 yai g man g2

A. BT&Igy
B. facayqd
C. el

D. BldR
14 fau Tt faeedl § ¥ gt TR & 991 BIfW ;

1. Hdd A R B
2. FaAB AR C

1[Option ID=15813]
2[Option ID=15814]
3[Option ID=15815]
4[Option ID=15816]

Sl. No.55
QBID:167055

The ashmound sites are reported from

A Kupgal
B. Budihal
C. Watgal
D. Pallavaram

Choose the correct answer from the options given below :

1. AandB only

. A, B and C only
.B and C only
.Aand D only
(1) 1

(2) 2

3) 3

(4) 4

e 2 b2




IREC A Rd Dol Y U gU 82

A DUTE
B. §fdgd

C. didile
D. YewidiH

14 fau Tt faeedl § ¥ gt TR & 991 BIfW ;
1. Hdd A R B

2. FATA, BIARC
3. HaAB 3R C
4. BT A ARD
(1 1
(2) 2
(3) 3
(4) 4
1[Option ID=15817]
2[Option ID=15818]

3[Option ID=15819]
4[Option ID=15820]

Sl. No.56
QBID:167056

Which of the following are not Harappan sites?

A. Farmana

B. Badli

C. Hansi

D. Khokharakot

Choose the most appropriate answer from the options given below :

1. A and B only
2. A and C only
. B and D only
. Cand D only
(1) 1
(2) 2
3) 3
(4) 4

7 & 9§ 1 I R S W QR TRl 62

A. TBHT
B. §1gd!

c. g4l

D. @RI

1= fqu U faeedl § 9 & Iugdd TR &1 999 B -

1. Had A 3R B
2. B A AR C
3. $adB ARD
4. FadC AR D

e T2




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15821]
2[Option ID=15822]

3[Option ID=15823]
4[Option ID=15824]

Sl. No.57
QBID:167057

Lunate harvesting tools along with long chert blades are reported from

A. Lothal

B. Surkotada
C. Rangpur
D. Ropar

Choose the correct answer from the options given below :

1. A, B and C only
2.B. Cand D only
3.A.Band D only
4. A, Cand D only

(1) 1

(2) 2

3) 3

(4) 4

TSWI Yl 1 R AW BT g1 g grI fbar manr

AL R

B. _EIYH
C. T A1y

D. TH. T
1= fqu U faeedl § 9 &9 Iugdd SR &1 99 ST -

1.%dd A.B 3R C
2. %aAB, C AR D
3. Pad A, B AR D
4.%dd A, C3RD

(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=15825]
2[Option ID=15826]
3[Option ID=15827]
4[Option ID=15828]

Sl. No.58
QBID:167058




The Rakhigarhi Harappan site 18 excavated by

A. V. Shinde
B. Surajbhan
C. A. Nath

D. S. Manjul

Choose the most appropriate answer from the options given below :

. A and B only

. B and C only
.A,Cand D only
.B. Cand D only
(1) 1

(2) 2

3) 3

(4) 4

R PRy wd A wa gd 2 -

e

= ]

=i feU g foweal H ¥ UEl SR &1 99 DIfo -

1. 3T A AR B
. FaAB AR C
. FAdA, C AR D
. HIAB, C AR D

(1) 1
() 2
3) 3
(4) 4

ESE ST ]

1[Option ID=15829]
2[Option ID=15830]
3[Option ID=15831]
4[Option ID=15832]

Sl. No.59
QBID:167059

‘Fire altars” have been found from the following sites:

A. Kalibangan
B. Lothal

C. Banawali

D. Mohenjodaro

Choose the correct answer from the options given below :

. Aand B only

. A, B and C only
. B and D only
.A,.Band D only
(1) 1

(2) 2

bd =

o T2




3) 3
4) 4

e PRy i A gg R -

A. DTG
B. @YU

C. SUlgal

D. Higdgs!

Hid U 718 fdeedl § U 9l 3 &1 9494 Hifoll ;

. Had A IRB
. HATA,BIARC
. HEAB ARD
BT A, B AR D

(1) 1
(2) 2
3) 3
(4) 4

e s k=

1[Option ID=15833]
2[Option ID=15834]
3[Option ID=15835]
4[Option ID=15836]

Sl. No.60
QBID:167060

Which of the following sites are situated in Tamilnadu?

A. Attirampakkam
B. Gudiyam

C. Anagwadi

D. Sangankallu

Choose the most appropriate answer from the options given below :

. Aand B only
. Aand C only
. B and C only
. Aand D only
(1) 1
(2) 2
(3) 3
(4) 4

b2 =

S ]




[ & 17 51 QR dfierg o srafid g2
A. HiqH9gHy
B. fgTH
C. 3{HTrars!
D. Ja&H e
= AU U faeedl ¥ 9 a3 Iugdd TR &1 999 S ;

1. HAdA 3R B
2. Haa A AR C
3. Fad B AR C
4. Had A R D

(1) 1

(2) 2

@3) 3

(4) 4

1[Option ID=15837]
2[Option ID=15838]
3[Option ID=15839]
4[Option ID=15840]

Sl. No.61
QBID:167061

John Lubbock used the following terms to emphasize the change and progress in tool - types?

A. Palaeolithic
B. Mesolithic
C. Neolithic
D. Chalcolithic

Choose the correct answer from the options given below :

1. A,Band C only
2. A and B only
3.A, Cand D only
4, Aand C only

(1) 1

(2) 2

3) 3

(4) 4

QUSRI YHRI J GRaaH 3R fab™ &1 ueikid =7 & fau @i qesid gRI1 Fafafad Wss o1 ydi &
4l -

A. qRTOTSTO]
B. JEIUTT0

C. TaYTHIO]
D. dIHUTSI0E

=i f4U 78 fadh el O T Tel 3wk &1 909 Difell

1. BAd A, B 3R C
2. Had A AR B
3. HaAA, C AR D
4. FAAARC




(1) 1
(2) 2

(3) 3

4) 4

1[Option ID=15841]
2[Option ID=15842]

3[Option ID=15843]
4[Option ID=15844]

Sl. No.62
QBID:167062

The Jaina cave architecture can be seen at

A Sittannavasal
B. Jogimara

C. Khandagin
D. Bagh

Choose the correct answer from the options given below :

1. A and B only
2. Aand C only
3.B and C only
4, Aand D only

(1) 1

(2) 2

3) 3

(4) 4

S T RITTA ST & APl ¢ -

A. RrAad
B. SINHRT
C. |USI
D. 9

< {4U 70 [l 1 ¥ 9ol 3 &1 944 HioTy

1. Bdd A AR B
2. BAT A 3R C
3. PadB AR C
4. BITAARD

(1) 1

(2) 2

@3) 3

(4) 4

1[Option ID=15845]
2[Option ID=15846]
3[Option ID=15847]
4[Option ID=15848]

Sl. No.63
QBID:167063




Which of the following are the techniques used for the production of Palaeolithic tools?

A Block-on-block
B. Fluting
C. Core

D. Punching
Choose the correct answer from the options given below :

. A, B and C only
. A, B and D only
.B, Cand D only
. A, Cand D only
(1) 1
(2) 2
3) 3
(4) 4

[ o ¥ S 3l db-iice BT YU GRIUTIIU] BT b FUBRUI o (HHi0r 1 faoa Sire g2
A. S -3H-&ATH
B. TR
C.BR
D. G
=t fGu U fam el § § GEl SR &1 99 BIfe .

1. BAAA, B AR C
2. %Bdd A, B IR D
3. %ddA B, C 3R D
4. HBAAA, C ARD

(1) 1

(2) 2

3) 3

(4) 4

b=

=S ]

1[Option ID=15849]
2[Option ID=15850]
3[Option ID=15851]
4[Option ID=15852]

Sl. No.64
QBID:167064

The phase of transition to the Mature Harappan from the early Harappan were noticed in

A. Dholavira
B. Kalibangan
C. Kunal

D. Harappa

Choose the correct answer from the options given below :

. Aand B only

. A, B and C only
.B. Cand D only
. A, Cand D only
(1) 1

(2) 2

bd =

o T2




3) 3
4) 4

[

Iep g5 4 fasiid gsu1 & 0w H& 10 & <RUI Hel o9 U -

A, TATdRT
B. BIci&

C. A
D.§SWI

=it fau T fowedl © T Het SR &1 997 DI -

1. Bdd A AR B
2. BAdA, B AR C
3. $ad B, C 3R D
4. BAAA, C AR D

(1) 1

) 2

3) 3

(4) 4

1[Option ID=15853]
2[Option ID=15854]
3[Option ID=15855]
4[Option ID=15856]

Sl. No.65
QBID:167065

The two rivers mentioned in the Junagarh inscription of Rudradaman are

A, Urjyata
B. Sudarshana

C. Suvarnasiktta
D. Palashini

Choose the correct answer from the options given below :

. B and C only
. A and B only
.B and D only
. C and D only
(1) 1
(2) 2
(3) 3
(4) 4

e Taa bd —




TEaIH & AT Sififed | o g1 Afqal &1 3w &2

A. oIq

B. &

C. gauia
D. Taf!

e fau e fawedl & ¥ et SR &1 90T Bife -

1. BAAB AR C
2. Fad A AR B

1[Option ID=15857]
2[Option ID=15858]
3[Option ID=15859]
4[Option ID=15860]

Sl. No.66
QBID:167066

Match List I with List IT

LISTI (Site) | LIST II (Location)

A |Garhdhanora [. MMadhva Pradesh|
B. [Eran II. |Odisha

C. |Aragarh II1. [Uttar Pradesh
D.

Baruwasagar | IV [Chhattisgarh

Choose the correct answer from the options given below:

. A-I, B-II, C-III, D-TV
. A1, B-L, C-IV, D-III
. ATTL, B-IV, C-1, D-TI
. ATV, B-I, C-II, D-III
1) 1
(2) 2
(3) 3
4) 4

It 11 =i 11 ¥ e Sifore

T 1 (R 11 )
A [TgeAR I [ UG
B. [T IL [FSr

C. |smre 111 [3eR ueq
D. [§%adTR V. [@de

b =

LFS]

e

fAafaiad fasedl § T Ut IR &1 994 ifoly ;

. A-I, B-II, C-ITI, D-IV
. A1, B-I, C-IV, D-III
. ATIL, B-IV, C-I, D-II
. A-TV, B-I, C-1I, D-III

a2 b2 =

-




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15861]
2[Option ID=15862]

3[Option ID=15863]
4[Option ID=15864]

Sl. No.67
QBID:167067

Match List I with List IT

LIST I (Regional cultural complex)] LIST II (Region's)
A [Sothi — Siswal I |Sind
B. |Bara I1. |Rajasthan — Harvanal
C. Mitathal IIL. [Punjab — Harvana
D. Thukar — Jhangar IV. Haryana

Choose the correct answer from the options given below:

. AT, B-IIL, C-TV, D- 1
. A1, B-III, C-TV, D-II

. A-TTI, B-TV, C-II, D-I

. ATV, B-I, C-III, D-II
(1 1

(2) 2

(3) 3

4) 4

It 11 =i 11 ¥ e Sifore

b =

LFS]

e

ﬂﬁ[(mmﬂ?ﬁ% T 11 (&)
A [ 1 [
B. [@RI 11 Rre=m-gfam
C. [Farye 11 [dSire-gigmon
D. [FgH- IR IV, [gfeamon
fAafaiad fasedl § T Ut IR &1 994 ifoly ;
1. A-II, B-IIL, C- IV, D-1
2. A-L, B-III, C-IV, D-II
3. AL, B-IV, C-II, D-1
4. A-IV, B-1, C-III, D-II
1 1
2 2
(3) 3
4) 4

1[Option ID=15865]
2[Option ID=15866]
3[Option ID=15867]
4[Option ID=15868]

Sl. No.68
QBID:167068




Match List I with List IT

LIST I (Temple) LIST II (Place)
Brahmapureshvaral I [Kumbakonam
Nageshvarasvanu | II. [Norttamalai
[Koranganatha II1. [Sringvasanallur
Shiva IV [Pullamangai

o[ o[>

Choose the correct answer from the options given below:

. A-TV, B-I, C-TII, D-TI
. ATV, B-I, C-II, D-III
. A1, B-IIL, C-1, D-IV
. A1, B-IV.C-II, D-III
1) 1
(2) 2
(3) 3
4) 4

Tl 191 9= 11 ¥ e sifore
T 1 (@HiGD) 11 ()

A [FEIGER I [prardei
B. friyadt | 1. ARaman
C
D

b =

s

. [PRTAY 111 [4iHareTeR
B EE IV. [qeeETs

& [

“gieiRad fddbedl H 9 Ul 3R &1 944 HIoT

. A-IV, B-I, C-III, D-II
. A-TV, B-I, C-I, D-III
. AII, B-III, C-1, D-IV
. A-I, B-IV,C-II, D-III
(1) 1
(2) 2
(3) 3
(4) 4

b=

L]

i

1[Option ID=15869]
2[Option ID=15870]
3[Option ID=15871]
4[Option ID=15872]

Sl. No.69
QBID:167069

Match List I with List IT

LISTI(Site) |[LIST II (Botanical Remains)
A |[Kausambi I. |Sandalwood
B. |Atranjikhera II. [Jaiphal
C. [Narhan IT1. [Deodar
D [Khairadih IV, [Timber

Choose the correct answer from the options given below:

. A-IV, B-I, C-TII, D-TI
. A-IV, B-III, C-I, D-II
. AL, B-TV, C-1,D-TII

. A B-II, C-ITI, DIV

3 =

LIPS ]

e




1) 1

(2) 2
3) 3
(4) 4
=i 1 1 =il 11 9§ fie o

ﬁ%ﬁxm g 11 (@i Haey)

A. [BIEMTE] 1. [dad ddst

B. [Heigsl | I [(A%d

C. g 111 [¢aeR

D. [ESlE IV [l
FafaRad faeedl O I 981 SR &1 90 Difel ;

Choose the correct answer from the options given below:

. A-TV, B-I, C-TII, D-TI
. ATV, B-IIL, C-I1, D-II
. AL, B-IV, C-1.D-TII
. AL B-II, C-I1I, D-IV
1) 1
(2) 2
(3) 3
@) 4

e L b

1[Option ID=15873]
2[Option ID=15874]
3[Option ID=15875]
4[Option ID=15876]

Sl. No.70
QBID:167070

Match List I with List IT

LIST I (Temple) LIST II (Deity)

A [Lakshman Temple, Sirpur I |Shiva
B. [Vaitala Temple, Bhubneshwar| II. [Mahavir
C. [Krishna Temple, Ellora III. [Durga
D. PMeguti Temple, Athole IV [Vishnu

Choose the correct answer from the options given below:

. A-IV, B-III, C-I, D-II
. A-I, B-II, C-TIL, D-IV
. AII, B-IIL, C-1, D-IV
. A-IV, B-I, C-TI, D-IIT
1) 1
(2) 2
(3) 3
(4) 4

e a2




= 1 1 YT 11 ¥ e Sifoe

T @)

CEAUT HiER, R

T O &9
L [Ba

e Jie3. a4

il CEAGIE

1 [gm

ofofw]

IV, [fas

fFaffad [deedl § O Ug! 3R &1 904 B :

faa b3 —

i

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15877]
2[Option ID=15878]

3[Option ID=15879]
4[Option ID=15880]

. A-TV, B-IIL, C-1, D-TI
. AL B-II, C-III, DIV
. AII, B-IIL, C-I1, D-IV
. A-TV, B-I, C-I, D-III

Sl. No.71
QBID:167071

Match List T with List IT

LIST I (Scholar)

LIST II (Organization)

A Sonakia

L

[Birbal Sahni Institute of Palaeobotany

A Carlyle

IT.

A llahabad Museum

5P Gupta

I1T.

Geological Survey of India

EEE

S K. Saraswat

V.

| Archaeological Survey of India

Choose the correct answer from the options given below :

- =

e L

(1) 1
(2) 2
(3) 3
(4) 4

. AIII, B-IV, C-II, D-I
. A, B-IMI, C-TI, D-IV
. AIL, B-IV, C-I, D-II
. A-IV, B-I, C-III, D-II




=1 1 1 = 11 ¥ e Sifee

1 daEm) T 10 (FR)
U gHEfpal | I [§REd e O 9980 T S
U Bsd | 1L [SaeEE 99sed
T O a0 [REE YTy 9 9eH
U9, . gREad| 1V, [HRAY WRidd A&

fFaffad [deedl § O Ug! 3R &1 904 B :

. A-TTI, B-IV, C-II, D-I
. AL B-IIL, C-II, D-IV
. AL, B-IV, C-1, D-II
. A-TV, B-I, C-III, D-TI
1) 1
(2) 2
(3) 3
4) 4

ofofw]

a2 b3 —

i

1[Option ID=15881]
2[Option ID=15882]
3[Option ID=15883]
4[Option ID=15884]

Sl. No.72
QBID:167072

Match List T with List IT

LIST I (Book) LIST I1 (Author)
A |Prehistory and protohistory of India 1. [HD. Sankalia
B. [Preshistory and Protohistory of India - An Appraisal II. [K.C._Jain
C. Prehistory and Protohistory of India and Pakistan 111 |V.E. Jain
D. Protohistory — Archaeology of the Harappan Civilization] [V, |3, Settar and R. Konisettar

Choose the correct answer from the options given below:

. AL B-II, C-III, D-IV
. A-II, B-II, C-1, D-IV
. AIL, B-IV, C-I, D-II
. A-I1, B-TV, C-I, D-III
(1) 1
(2) 2
(3) 3
(4) 4

b =

e L




= 1 1 YT 11 ¥ e Sifoe

T 1 (T5P) I 11 (dED)
B UUS HIelie] 3% 354l L g, SI givierdn
iiee] Uus Uieliewd] AP Sisl - T uueeld | I o, §1 o
UiTew| UUS Dl b 251 U0s Ulidetad | 1L [31. &. oA
el i arcion 3% § gt UlddgeisH| IV. [T8. ¥R 108 3R, HIRYCR

fFaffad [deedl § O Ug! 3R &1 904 B :

. A, B-II, C-TII, D-TV
. A1, B-IIL, C-1, D-IV
. AL, B-IV, C-1, D-II
. A1, B-IV, C-I, D-II
1) 1
(2) 2
(3) 3
4) 4

ofofw]

faa b3 —

i

1[Option ID=15885]
2[Option ID=15886]
3[Option ID=15887]
4[Option ID=15888]

Sl. No.73
QBID:167073

Match List T with List IT

LIST I (Book) LIST II (Author)
A |Archaeometallurgy 1in India I H.C. Bhardwaj
B. [lron Age in India II. [ER Caley
C. |Aspects of Ancient Indian Technology| II1. [Vibha Tripathi
D. |Analysis of Ancient Metals IV. IN.E. Banerjee

Choose the correct answer from the options given below:

. A, B-IV, C-II, D-III
. A-II, B-1, C-IV, D-III
. AIL, B-IV, C-I, D-II
. ATIL, B-TV, C-II, D-I
(1) 1
(2) 2
(3) 3
(4) 4

b =

e L




= 1 1 YT 11 ¥ e Sifoe

T 1 (D) 11 (dEF)
3Tichd] Hedoll 34 2ivadl 1. @9 9 YRa™
STERA U 2 3ftsal II. 5. 3R ol

UUgey AP 300 caiare| 1L [l Hardt
UHITIY 315 U210 Hed | IV. [T, 3R, S

fFaffad [deedl § O Ug! 3R &1 904 B :

. A-I, B-IV, C-I, D-III
. A1, B-L, C-IV, D-III
. AL, B-IV, C-I, D-II
. AL, B-IV, C-II, D-I
1) 1
(2) 2
(3) 3
4) 4

ofofw]

faa b3 —

i

1[Option ID=15889]
2[Option ID=15890]
3[Option ID=15891]
4[Option ID=15892]

Sl. No.74
QBID:167074

Match List T with List IT

LIST I (Site Name)| LIST II (River)
A |Tanghat I. PMMahanad:
B [Suvarnapur II. [Betwa

C. [Vidisha III. PManivart

D. |Tala IV, [Kharun

Choose the correct answer from the options given below:

. A B-II, C-III, D-IV
. A-I1, B-TV, C-I, D-III
. A-IV, B-II, C-I, D-III
. A-IV, B-I, C-II, D-III
(1) 1
(2) 2
(3) 3
(4) 4

b =

e L




= 1 1 YT 11 ¥ e Sifoe

Al 1 (RIRIE) | & 10 (D
A [aigre I [HEMGl
B. [gau I [§qd]
C. [@femm IIL. [F=amt
D [Tl IV, [ dla
fFaffad [deedl § O Ug! 3R &1 904 B :
1. A-I, B-II, C-III, D-IV
2.-AML BIV, €1, DI
3. A-IV, B-II, C-I, D-III
4. A-TV, B-I, C-TI, D-IIT
1) 1
(2) 2
(3) 3
4) 4

1[Option ID=15893]
2[Option ID=15894]
3[Option ID=15895]
4[Option ID=15896]

Sl. No.75
QBID:167075

Match List T with List IT

LIST I (Journal) LIST IT (Society)

[Kala I. |Indian Archaeological Society
[Puratattva II. [Rock Art Society of India

Historv Today | IIL [Indian Art History Congress
Purakala IV. [Indian History and Culture Society

EEE

Choose the correct answer from the options given below:

. AL B-II, C-III, D-IV
. AITL, B-TV, C-I1, D-TI
. AJIL, B-1, C-IV, D-II
. A-IV, B-II, C-III, D-I
(1) 1
(2) 2
(3) 3
@) 4

- =

e L




=1 11 =T 11 ¥ e Sifoe

= 1 (F9) T 11 (FETaeh
A [@a 1 [Efisad anfdaraiieida grgrgel
B. [Xid@ 1L RI% 3TE Gramel 30 30541
c fe<izs 1L [310584 32 8% $iUd

D. [T &al V. [E0ETH 8% 108 o=k ST

fAafaiad fasedl § T Ul IR &1 99 ifoly ;

A-I B-II, C-TII, D-IV
AL, B-TV, C-1, D-II
. AL, B, C-IV, D-II
. A-TV, B-TL, C-III, D-I
1) 1
(2) 2
(3) 3
4) 4

B R

1[Option ID=15897]
2[Option ID=15898]
3[Option ID=15899]
4[Option ID=15900]

Sl. No.76
QBID:167076

Arrange the following archaeological departments established by the Indian States in Chronological order
from earliest to latest:

A. Hyderabad
B. Travancore
C. Mysore

D. Kashmir

Choose the correct answer from the options given below :

1.0 BT
2.B,C,D.A
3: 08B DA
4.D,A,B,C
(1) 1
(2) 2
(3) 3
(4) 4

{18 Rl &1 Wil 3HH & UR U W I HYATT & od § Ty

A TEEIg
B. ATGUIHIR
C. AR

D. BIHR

=T 13U 70 fddedl § U Tl 3 &1 94 DioTU ;

A.B,C.D
B.C,D.A
.C,B,D.A
DA B, C

b =

RS P




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15901]
2[Option ID=15902]

3[Option ID=15903]
4[Option ID=15904]

Sl. No.77
QBID:167077

Arrange the following sites according the cultural sequence form earliest to latest :

A. Burj

B. Lohat
C. Meham
D. Hansi

Choose the correct answer from the options given below :

(4) 4

{149 21 U RI 1 37 SR B3 1 {dfd 1 & H T9d 54 oaieyd Hifd |

AT
B. @igd
C.Hgq
D. Bl

=T fou 70 fadedl O T Tt 3T &1 94 Biolg -

1.A,B.C.D
2.A.C,B,D
5.8.0 DA
4.C.D.A.B

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=15905]
2[Option ID=15906]
3[Option ID=15907]
4[Option ID=15908]

Sl. No.78
QBID:167078




Arrange the following ceramics in chronological order from earliest to latest :

A. Red Poslihed Ware

B. Painted Gray Ware

C. Celadon Ware

D. Northeron Black Polished Ware

Choose the correct answer from the options given below :

(4) 4

{18 gqurAl BT URY 30l 9 & &0 o syaieyd e |

A. difed gifer a=

B. [RfEd YR U=

C. ddsd A

D. 31 BT IH®HId U

=T 13U 70 fddedl § U Tl 3 &1 94 DioTU ;

1.A.B,C.D
2.B,D.A,C
.C,A,B.D
D.CAR
(1 1
(2) 2
(3) 3
4) 4

e a2

1[Option ID=15909]
2[Option ID=15910]
3[Option ID=15911]
4[Option ID=15912]

Sl. No.79
QBID:167079

Arrange the following coin-types according to the date of their issue

A. Ashwamedha type
B. Kartikeya type

C. Chakradhawaja type
D. Lion-slayer type

Choose the correct answer from the options given below :

A D.C/B

i

1

3. T).
3.6
4. A,

ol
wlwle

.B
.B
.D.B

1 1
(2) 2
3) 3




(4) 4

{19 <1 U RI 1 G SR &= 1 {dfd 1 1 H T9d g4 oaieyd Hited |

A, YAY TR

B. BIfddd PR

C. I gl YHR

D. g Fga yeR

=T fou 70 fadedl O T Tt 3T &1 94 DifoTg -

1.A.D,C,B
I AE B
LA DB
4.A.C.D,B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=15913]
2[Option ID=15914]
3[Option ID=15915]
4[Option ID=15916]

Sl. No.80
QBID:167080

Arrange the following terracotta in chronological order from carliest to latest :

A. Ahichhatra terracotta
B. Kausambi terracotta
C. Bulandibag terracotta
D. Paithan terracotta

Choose the correct answer from the options given below :

1.A.B,C.D
2B DA
3. DA B, C
4.B,C,A,D

(4) 4




(2) 2
(3) 3
(4) 4
1[Option ID=15917]
2[Option ID=15918]

3[Option ID=15919]
4[Option ID=15920]

Sl. No.81
QBID:167081

Arrange the following temples of Odisha in a chronological order from earliest to latest:

A. Parashurameswara temple
B. Raja Rani temple

C. Mukteshwara temple

D. Jagannath temple

Choose the correct answer from the options given below :

(4) 4

ST o [Ryd 9 1Rl &1 URm ¥ 301 9 HHYIR Haiyd Hifeid|

A, TRERERT AR
B. I@1 IHT AR
C. HaIAR AR
D. STy HfeR

Ty,

+d U 770 fa®edl H 9 Jel 3wk &1 94+ Hifoil ;

1[Option ID=15921]
2[Option ID=15922]
3[Option ID=15923]
4[Option ID=15924]

Sl. No.82
QBID:167082




Re-arrange the following sites from north to south :

A Nevasa
B. Chichali
C. Ladakh

D. Inamgaon

Choose the correct answer from the options given below :

(4) 4

IR S0 S B H 8 R Bl oIaf@yd o -

A Har
B. feraet

C. dgd
D. S1HTId

=T 13U 70 fddedl § U Tl 3 &1 94 DioTU ;

1.A.B,C.D
7R OA T
B AD
D.CAR
(1 1
(2) 2
(3) 3

(4) 4

e a2

1[Option ID=15925]
2[Option ID=15926]
3[Option ID=15927]
4[Option ID=15928]

Sl. No.83
QBID:167083

Arrange the following structures in chronlogical order from earliest to latest :

A. Bhaja
B. Karle
C. Bedsa
D. Pitalkhora

Choose the correct answer from the options given below :




(4) 4

UR™Y F YT & &H H Fafaiad @=si & pHaR orafiyd &3

A. YT
B. &Td
C. §ax
D. [Uda@RT
=T fou 70 fadedl O T Tt 3T &1 94 DifoTg -
1.A,B.C.D
2.A.D.C.B
3.B,A,C,D
4.D,C,A,B

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=15929]
2[Option ID=15930]
3[Option ID=15931]
4[Option ID=15932]

Sl. No.84
QBID:167084

Arrange the following sites from east to west :

A. SENUAR

B. Daojali Hading
C. Maner

D. Balathal

Choose the correct answer from the options given below :

oorw

mwon
olvReNw

B
»p e

(1) 1
(2) 2
(3) 3
(4) 4

fafeRad gRreel &1 gd 4 9fy & &9 § T -




2) 2
(3) 3

(4) 4

1[Option ID=15933]
2[Option ID=15934]

3[Option ID=15935]
4[Option ID=15936]

Sl. No.85
QBID:167085

The simple monolithic vimana has following parts in vertical direction from base to top :

A Prastara

B. Stupi

C. Adhishthana
D. Shikhara

Choose the correct answer from the options given below :
_A.B,C,D

DRA €
.D. A
ol

2 =

C B,
A, D,

S ]
us)

(1) 1
() 2
3) 3
(4) 4

YR I e afaw e & myRo teeas aum & Fafafad yrTi & 9aq1u -

ALY

B. Tl
C. SIEEHE
D. RrRER

= fU 70 faded! § U Tel 3Tk &1 904 Hifoll

LAHED
2.D,B,A, C
3.D,C,B,A
4.C,A,D.B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=15937]
2[Option ID=15938]
3[Option ID=15939]
4[Option ID=15940]

Sl. No.86
QBID:167086




Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) :  The pattern of trade routes do not appear to have significantly changed in the carly medieval

Indian context.
Reason (R): This observation is based on a close study of the routes which linked the Ganga plain with the

Deccan.
In the light of the above statements, choose the correct answer from the options given below :

. Both (A) and (R) are true and (R) is the correct explanation of (A)

. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
. (A) 1s true but (R) 1s false

. (A) 1s false but (R) 1z true

1) 1

(2) 2

3) 3

(4) 4

Id &1 PYT [GU L © : U S YUT (Assertion (A)) P &9 1 [A1RGd © dl GIRT 3D PRI (Reazon (R))
HEUH:
YA (A) - WRAH ey & 7d AweTa § aaraiie Arl &1 9aid J &5 (a9 gikdc- el S|
BRUN(R) : T8 Ga+f 3 A1l & Y& 3fea- R A1 & ot 71ig faM Sk aad- & 91 9es ¢ |
SR DY & ld d, H GU T [ddhedi § I Ul SR &1 9d- DIl :

1. (A) 3R (R) AT TA € 3R (R), (A) T TEI ARG &

(A) 3R (R) TF T €, TP (R), (A) D1 TS HRAT T 8
(A) TAE, AT (R) 3T ©

(A) 3T &, AfFT (R) T ©

1) 1

(2) 2

(3) 3

(4) 4

b =

e Taa

b2

1[Option ID=15941]
2[Option ID=15942]
3[Option ID=15943]
4[Option ID=15944]

Sl. No.87
QBID:167087

Given below are two statements :

Statement I : During Bhaumakaras rule, hindu temples were constructed in Odisha.

Statement II : They only patronized Buddhism.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4, Statement I is incorrect but Statement II is correct
(1)1
(2) 2
(3) 3
(4) 4




RS eyERumue.
YT UIASR I & Sdid For 1 g Al @1 Hamm ga|
FUAIL: dHadalal Bl MY 3d Ul
SIRIF HY & Aadie H, - AU T fae el § 9 998 Iugad IR &1 98- Sl .

1. BYT 1 3R 11 51 I81 §
2. BYT I IR SHI Tad &
3. BY I el 8, i YT 11 7Tad &
4. BYF 17T 8, AT FUT T T8l §

(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=15945]
2[Option ID=15946]
3[Option ID=15947]
4[Option ID=15948]

Sl. No.88

QBID:167088
Given below are two statements : One is labelled as Assertion (A) and the other 1s labelled as Reason (R).
Assertion (A) : The term ‘neolithic — chalcolithic’ was used to denote the first stage of village growth in non-
Harappan India.
Reason (R) : This was meant to be a general term to describe a host of regionally distinctive cultural
situations before the beginning of iron.
In the light of the above statements, choose the correct answer from the options given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
3. (A) is true but (R) 1s false
4. (A) 1s false but (R) 1s true
(1) 1
(2) 2
3) 3
(4) 4

-4 31 PUA AU TN : U HTUEUA (Assertion (A)) B =0 H fIREd § T GHT 39D BRI (Reason (R))

HEOH:

HHHYT (A)é‘ﬁdHINIUI-dIHHMImId’)" g @1 UONT TR S8y HRd H WY 901 & Tid & [G&Hr &l
FATE|

HRUI(R) : TE TP T a3 U1, S @ig 98 g1 H SIe] WP e &g g &1 qui- $al g

IWRIFd HY & AP H, Hid (ST U [dhedi H U Tel IR &1 994 ifoig

(&) 3R (R) GHI I ¢ 3R (R), (A) B UL ARSAT &

(A) 3R (R) SFI T &, T (R). (A) BT T 0= 7ol &
(A) T &, AP (R) ITA T

(A) 3T, AP (R) I ©

1) 1

(2) 2

(3) 3

(4) 4

[

s

1[Option ID=15949]
2[Option ID=15950]
3[Option ID=15951]
4[Option ID=15952]
|




Sl. No.89
QBID:167089

Given below are two statements : One is labelled as Assertion (A) and the other i1s labelled as Reason (R).
Assertion (A) : The punch-marked coins had irregular shapes.

Reason (R): The adjustment of the weight of punch-marked coins was made by cutting bits off corners.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) iz correct but (R) 13 not correct
4. (A) 1s not correct but (R) is correct
(1) 1
(2) 2
3) 3
(4) 4

- 31 PUA AU U § : U AT UA (Assertion (A)) & =0 H fAREd § 1 GHT 39% PRUI (Reason (R))
HEUH:

HTYSHYA (A) : 3MEd I S-AHAHR ¢

PRI (R) : HTd GE13HT & YR A DI {b-TR F PIceh Ha R Tear Srdr ol

SIRIF HYH P Hdie 0, - Gu Tt fdeedi § 9 968 3ugad 3R &1 98- Sifolt :

1. (4) 3R (R) S TG © 3R (R), (A) ! TSt ARSAT S

(A) 3R (R) SFI I &, Tfd (R), (A) BT To! ourad el o
(A) T T, AP (R) 3T ©

(A) T B, Ofe (R) T B

(1) 1

(2) 2

3) 3

4) 4

e a2

1[Option ID=15953]
2[Option ID=15954]
3[Option ID=15955]
4[Option ID=15956]

Sl. No.90
QBID:167090

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : The ancient Indian inscriptions upto the Gupta period are mostly donative records.
Reason (R): A great proportion of the available donative records deals directly with individual donations
made for the building of stupas, dedication of Buddhist images and maintenance of rock-cut monastic

complex.
In the light of the above statements, choose the correct answer from the options given below :

. Both (A) and (R) are true and (R) is the correct explanation of (A)

. Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
. (A) 1s true but (R) 1s false

. (A) is false but (R) is true

(1) 1

(2) 2

(3) 3

(4) 4

b =

ES 5




- 31 PU AU TN § : U HTUEUA (Assertion (A)) & =0 H fAREd § 1 GHT 39d PRI (Reason (R))
FEIH;

HIYHY (A) : T BT 9P & WA YR g §E0d: & 9 5|

®RUI(R) : 51 &F TAl & 8 YT H 3 ofgai1d g1 1 v & el I9a1T U Ud dig Uidasi &
formfur ug Qersiol GHEi & Ua Toia W) foban e o |

SURIF] PY & el F, 1 fSU T fdbedi § I Igt IOk & 991 By :

1. (A) 3R (R) GFI I © 3R (R), (A) & Ut uraAT ©

(A) 3R (R) S 9 &, TF (R). (A) BT T 0= 761 &
(A) TI E. A% (R) ST ©

(A) 3T B, AT R) TT ©

M 1

2 2

(3) 3

4) 4

]

S W]

1[Option ID=15957]
2[Option ID=15958]
3[Option ID=15959]
4[Option ID=15960]

Sl. No.91
QBID:167091 .
Read the given passage carefully and answer the question that follow :

The earliest systematic surveys of antiquities and sites for the purpose of reconstructing Indian historical past
started during the colonial period. The interest in Indological studies led to the establishment of the Asiatic
Society at Calcutta in 1784. The first Director General of the Archaeological Survey of India was interested in
historical archaeology. Cunningham followed the Buddhist texts to trace Buddhist sites across the GANGA
valley and Central Indian Plateau. The Ancient Monuments Preserve Act of 1904 highlighted the principles for
undertaking ‘legitimate restoration’, the role of local museums in conservation and documentation in the form
of Photographs. The conservation of sites like Khajuraho, Mandu, Takht-1-Bahi and Jamalgarhi were carried

out.
15 IR &1 U Ud Fg Ui Ul s SR 3|

A9l S1d & SR UHF YR S8R & gAHE1 & 3580 I YRS RN R R
& oHayd JA&U DI YFHT 55| W G & SferaH § B & $RUT 1784 § H UREIS Sme] o
RITIHT Pl I §g | HRAG I Ha&i0l & Ugd Hel-e¥® Uagie Ridd § 3 w@d 4| siHad
ERT dls Iifed & sr=item I afg Rl &1 17 aret R Je YR UaRT & srafkmd far mar|
1004 T W RS SR&0 ATHTH afs g sivifure o34 & e, W Sueagisi o e
HR FIfd gxadeiiexu § 3! YHeT & 3@iidd Hdl ¢ | WeRIe!, J1g, ded-ale! 3R SHIeRT] o
TRTRIE] BT HA&UT fe5am 7|

Who founded the Asiatic Society at Calcutta ?

. James Prinsep

. William Jones

. Charles Wilkins

. Leonard Woolley

B R

(1)1
(2) 2
(3) 3
(4) 4




U Sl 4 URAcE Gra™el & A1 fdarn

1. o g
2. faferom o
3. 9Ted fadfe—g
4. TS qeft
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15961]
2[Option ID=15962]

3[Option ID=15963]
4[Option ID=15964]

sl. No.92
QBID:167092 .
Read the given passage carefully and answer the question that follow :

The earliest systematic surveys of antiquities and sites for the purpose of reconstructing Indian historical past
started during the colonial period. The interest in Indologieal studies led to the establishment of the Asiatic
Society at Calcutta in 1784. The first Director General of the Archaeological Survey of India was interested in
historical archaeology. Cunningham followed the Buddhist texts to trace Buddhist sites across the GANGA
valley and Central Indian Plateau. The Ancient Monuments Preserve Act of 1904 highlighted the principles for
undertaking ‘legitimate restoration’, the role of local museums in conservation and documentation in the form
of Photographs. The conservation of sites like Khajuraho, Mandu, Takht-1-Bahi and Jamalgarhi were carried
out.

% TRIT® 1 u¢ Ud 9 Ui ugl 1 g 4|

H9afRe S1d & GRM WHH YR Sfaer & g & 358d d YRS QRIa<N 3R QR
& STareyd YA&Ul B Y31 §5 | U= 321 & feng B S & SR 1784 § T UREIICS e ot
T Pael H g% | YR [RIdd HA&l1 & U8 Hel-4¥e Udsiide Ridd J 3 w@d 41 Si-ad
GRI dIG iied & SR U dig GRIT &1 71 °Ie] 3R Hed HRAM USRI H SafR19d fbar )
1904 BT W RS A&7 AT i T SiiyR S & RS, ®IF Sugadis & e
IR FIET exaTdeiiaxu & 39! YHE1 & @ifcd Bl & | WoRiel, 31S, TRadl-aTe] SR SHIeTe! oy
RIRYT] T Hd&ur fesar 7|

Who was the first Director General of the ASI ?

. Cunningham
. Marshall
3. Burgess
4. Wheeler
(1) 1
(2) 2
3) 3
(4) 4

YR R Fd&Ul & UYH TGRS 61 42

1. BHgq
2. AT
3. 90
4. femR

(1) 1

(2) 2

3) 3

(4) 4

| R ]




1[Option ID=15965]
2[Option ID=15966]
3[Option ID=15967]
4[Option ID=15968]

Sl. No.93
QBID:167093 .
Read the given passage carefully and answer the question that follow :

The earliest systematic surveys of antiquities and sites for the purpose of reconstructing Indian historical past
started during the colonial period. The interest in Indologieal studies led to the establishment of the Asiatic
Society at Calcutta in 1784. The first Director General of the Archaeological Survey of India was interested in
historical archaeology. Cunningham followed the Buddhist texts to trace Buddhist sites across the GANGA
valley and Central Indian Plateau. The Ancient Monuments Preserve Act of 1904 highlighted the principles for
undertaking ‘legitimate restoration’, the role of local museums in conservation and documentation in the form
of Photographs. The conservation of sites like Khajuraho, Mandu, Takht-1-Bahi and Jamalgarhi were carried

out.
% IRET® 1 u¢ Ud 9 Ui ugl 1 g 4|

HIYFARE S1d & aRM THH YR Sfasr & gAHH10 & 3589 3 RIS QRIEaRNT 3R gyl
& oareyd A&l B YHHId g5 | UI=0 321 & seqg- H 39 & SR 1784 § T UREICS e ot
O] ol § §5 | HRHT GRIdd A& & et Heli-a Ufieide Ridd H 34 3ad 41 SiHad
GRI dls Fifed & SRiTeH I dig QRIS &I 11 91 SR Hed YR UsRI & SR feoar |
1904 T W RS A&7 AT [ T4 SiviyR S & g, R Sugadisi & e
IR IR SxTdeliaxu H 396! YT & Y@ifdd Bl & | WoRlel, Hig, TRad-aTe] SR SHIeTe! oy
RIRYT] T H&ur a7 |

Whose texts were used by Cunningham to trace Buddhist sites ?

. Hieun-Tsang
. Strabo
. Fahien

. Itsing

| S

= ]

(1) 1
(2) 2
3) 3
4) 4

4G R & A9 & ferd HHeH & gRI fagd 1y &1 Wit fdar 7 2
1. B9
2. %l

-

~

3. WIeliH
i \ﬁ.
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15969]
2[Option ID=15970]

3[Option ID=15971]
4[Option ID=15972]

Sl. No.94
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Read the given passage carefully and answer the question that follow :

The earliest systematic surveys of antiquities and sites for the purpose of reconstructing Indian historical past
started during the colonial period. The interest in Indological studies led to the establishment of the Asiatic
Society at Calcutta in 1784. The first Director General of the Archaeological Survey of India was interested in
historical archaeology. Cunningham followed the Buddhist texts to trace Buddhist sites across the GANGA
valley and Central Indian Plateau. The Ancient Monuments Preserve Act of 1904 highlighted the principles for
undertaking ‘legitimate restoration’, the role of local museums in conservation and documentation in the form
of Photographs. The conservation of sites like Khajuraho, Mandu, Takht-i-Bahi and Jamalgarhi were carried
out.

1% IR &1 Ue Ud Fd id U4l &1 SR G|

TR STd & ERM URH YR SfagR & gAHE & 3580 I YRS QR 3R R
& oareyd A&l B YHHIT §5 | W=D G201 & ey H 39 & SR 1784 § T TR e ot
RUHI Saddl 1 §g | HRAIG GRIdd Ha&ul & ygd Hel-ee Uagiiye qRidd o o wEd 41 Si-an
GR1 81g Uifed & SrRiieH U i RRE! & T gret 3R Ao WRdTg UsRI  3rafnd fsan m
1004 T U RS W& AfUHTH Y THa SiviuRe x4 & R, Wt e & em
R IR axTdeiianu H 39! Y &l @ifdd Bl o | WoRIel, HIS, TRad-aTe] SR SHIeHTe! ofy
RIT! 1 Haul fean |

The Ancient Monument Preservation Act was introduce during the viceroyalty of -

. Lord Lytton

. Lord Curzon

. Lord Mayo

. Lord Mountbatten
(1) 1

(2) 2

3) 3

(4) 4

Ul WIRS SR G & R §H & 9 aigERi SiF ol 2

1. @re e
2. TS ®oi
3. @S A
4. @IS AT3<dcA
1 1
(2) 2
(3) 3
(4) 4

Fd =

NE N

1[Option ID=15973]
2[Option ID=15974]
3[Option ID=15975]
4[Option ID=15976]
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Read the given passage carefully and answer the question that follow :

The earliest systematic surveys of antiquities and sites for the purpose of reconstructing Indian historical past
started during the colonial period. The interest in Indological studies led to the establishment of the Asiatic
Society at Calcutta in 1784. The first Director General of the Archaeological Survey of India was interested in
historical archaeology. Cunningham followed the Buddhist texts to trace Buddhist sites across the GANGA
valley and Central Indian Plateau. The Ancient Monuments Preserve Act of 1904 highlighted the principles for
undertaking ‘legitimate restoration’, the role of local museums in conservation and documentation in the form
of Photographs. The conservation of sites like Khajuraho, Mandu, Takht-i-Bahi and Jamalgarhi were carried
out.

1% IR &1 Ue Ud Fd id U4l &1 SR G|

TR STd & ERM URH YR SfagR & gAHE & 3580 I YRS QR 3R R
& oareyd A&l B YHHIT §5 | W=D G201 & ey H 39 & SR 1784 § T TR e ot
RUHI Saddl 1 §g | HRAIG GRIdd Ha&ul & ygd Hel-ee Uagiiye qRidd o o wEd 41 Si-an
GR1 81g Uifed & SrRfieH ¥ dlg RRE! & T gret SR Ao WRdTg USRI 3rafrd fvan mn)
1004 T U RS W& AfUHTH Y THa SiviuRe x4 & R, Wt e & em
3R I exTdeiiau H 39! YT &l J@ifdd Bl o | WoRlel, HIS, dai-ale] SR SHIeHTe! oy
Rl 1 Ha&ul fean |

Who carried out the conservation works at Khajuraho and Takht-i-Bahi ?

. Cunningham
. Burgess

. Marshall

. Wheelar

(1) 1

(2) 2

(3) 3

(4) 4

(P47 GRT WoRTe! Ud q%a-U-aTe! & S&U &1 10 gul a7 2

bd =

NE N

1. Bi-gH
2. G
3. AT
4. BITR

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=15977]
2[Option ID=15978]
3[Option ID=15979]
4[Option ID=15980]
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Read the given passage carefully and answer the questions that follow :

1920s was a milestone in history of Indian civilization from the nationalistic point of view following the
discoveries of Harappa and Mohenjodaro. R.D. Banerji, M.S. Vats, D.R. Sahani, N.G. Majumdar and
Hargreaves excavated serveral Harappan sites. These sites provided a tangible evidence of an Indian
civilization going back to the fourth-third Millennium B.C. 1930s saw development in field of prehistoric
research with Burkitt and Cammiade’s survey. H. de Terra and Paterson undertook scientific expedition
studying geomorphological, archaeological and palaeontological survey of Kashmir potwar and Jammu
regions. Todd was first to report on Upper Palaeolithic industry from Bombay province. Wheeler introduced
the concepts of stratigraphy and planning in Indian archaeology and carried out excavations across India.

frafeiad SR &1 ufeu Sk 1= f4u 10 i el & SR gl ;

HR. 1. §Toll. UH. UH. e, SI. 3R, FE-11, T, St AeHER 3R gRiUed GRI §5WI 3R Higaias! &l
G & HHH Bs gl RA & Y T oF ¥ TIPERIUN E YR 1041 & Siderd 1§ 9 1920
@1 a8 U Ui DT IR g g1 54 QRRyal - =91l diesl Sevdrsg! 5. 9, & YRd1g 999d1 gq 5d wied
T 1| gabie 3R DTS & Fd&ur = ay 1030 P aX@ U URIEINGD XY & &= T [der a1 U=,
3. ¢ 3R fUexs SR, Uid aR SR S0y &3 1 Y-311pid [a3, QRIdmd® SR wioft-fasm & e
3 a9 stermA fan ofs ygd oufdd 9, forein ardl Ui-d 9 S=F QRITSIO 391 &1 widafad fdar|
gﬁ%mmaﬂmﬁmwﬁuﬁawﬁﬁﬂw%wﬁ@wﬁmﬁxﬁm

!

Which of the following sites was discovered by N.G. Majumdar 7

. Amri

. Kotdiji

. Kalibangan
. Surkotada
(1)1

(2) 2

(3) 3

(4) 4

Prafa & @ g g 7 Wi o, o, HepeR 3 @ o -

1. 3R
Plcalol
CANIEAI

bd o=

e

[ ]

Ll

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15981]
2[Option ID=15982]

3[Option ID=15983]
4[Option ID=15984]
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Read the given passage carefully and answer the questions that follow :

1920s was a milestone in history of Indian civilization from the nationalistic point of view following the
discoveries of Harappa and Mohenjodaro. R.D. Banerji, M.S. Vats, D.R. Sahani, N.G. Majumdar and
Hargreaves excavated serveral Harappan sites. These sites provided a tangible evidence of an Indian
civilization going back to the fourth-third Millennium B.C. 1930s saw development in field of prehistoric
research with Burkitt and Cammiade’s survey. H. de Terra and Paterson undertook scientific expedition
studying geomorphological, archaeological and palaeontological survey of Kashmir potwar and Jammu
regions. Todd was first to report on Upper Palaeolithic industry from Bombay province. Wheeler introduced
the concepts of stratigraphy and planning in Indian archaeology and carried out excavations across India.

frafeiad SR &1 ufeu Sk 1= f4u 10 i el & SR gl ;

HR. 1. §Toll. UH. UH. e, SI. 3R, FE-11, T, St AeHER 3R gRiUed GRI §5WI 3R Higaias! &l
G & HHH Bs gl RA & Y T oF ¥ TIPERIUN E YR 1041 & Siderd 1§ 9 1920
@1 a8 U Ui DT IR g g1 54 QRRyal - =91l diesl Sevdrsg! 5. 9, & YRd1g 999d1 gq 5d wied
T 1| gabie 3R DTS & Fd&ur = ay 1030 P aX@ U URIEINGD XY & &= T [der a1 U=,
3. ¢ 3R fUexs SR, Uid aR SR S0y &3 1 Y-311pid [a3, QRIdmd® SR wioft-fasm & e
3 a9 stermA fan ofs ygd oufdd 9, forein ardl Ui-d 9 S=F QRITSIO 391 &1 widafad fdar|
gﬁ%mmaﬂmﬁmwﬁuﬁawﬁﬁﬂw%wﬁ@wﬁmﬁxﬁm

!

Who carried out archaeological exploration of North West Frontier region ?

. Hargreaves
. A, Stein

. Cammiade
. Burkitt
(1)1

(2) 2

(3) 3

(4) 4

Il ufd! T &7 O qRrdriae gda fee faar 2

1. gieg
2.0 %A

3. PETS
4. §Plc
1 1
(2) 2
3) 3
(4) 4

| ]

e

1[Option ID=15985]
2[Option ID=15986]
3[Option ID=15987]
4[Option ID=15988]
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Read the given passage carefully and answer the questions that follow :

1920s was a milestone in history of Indian civilization from the nationalistic point of view following the
discoveries of Harappa and Mohenjodaro. R.D. Banerji, M.S. Vats, D.R. Sahani, N.G. Majumdar and
Hargreaves excavated serveral Harappan sites. These sites provided a tangible evidence of an Indian
civilization going back to the fourth-third Millennium B.C. 1930s saw development in field of prehistoric
research with Burkitt and Cammiade’s survey. H. de Terra and Paterson undertook scientific expedition
studying geomorphological, archaeological and palaeontological survey of Kashmir potwar and Jammu
regions. Todd was first to report on Upper Palaeolithic industry from Bombay province. Wheeler introduced
the concepts of stratigraphy and planning in Indian archaeology and carried out excavations across India.

frafeiad SR &1 ufeu Sk 1= f4u 10 i el & SR gl ;

HR. 1. §T5il. UH. UH. e, 1. 3R, FE-11, T, St AuHER 3R gRiUed gRI §5WI SR Higaias! &l
G & HHH Bs gl RA & Y T oF ¥ TIPERIUN E YR 1041 & Siderd 1§ 9 1920
@1 a8 U Ui DT IR g g1 54 QRRyal - =91l diesl Sevdrsg! 5. 9, & YRd1g 999d1 gq 5d wied
T 1| gabie 3R DTS & Fd&ur = ay 1030 P aX@ U URIEINGD XY & &= T [der a1 U=,
3. ¢ 3R fUexs SR, Uid aR SR S0y &3 1 Y-311pid [a3, QRIdmd® SR wioft-fasm & e
3 a1 siermH faan| TS yed aufdd 4, forgia and W ¥ S QRIUIIOre e & wiadfed &
%mmaﬂmﬁmmﬁuﬁawﬁﬁﬂw%wﬁwﬂwﬁmﬁﬁwm

!

Burkitt and Cammiade undertook studies in :

. Jammu — Potwar region
. Jammu — Kashmir region
. Krishna region

. Narmada region

B R

(1) 1
(2) 2
(3) 3
(4) 4

THfc IR HTs F ega o -

g
:

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15989]
2[Option ID=15990]

3[Option ID=15991]
4[Option ID=15992]

Sl. No.99
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Read the given passage carefully and answer the questions that follow :

1920s was a milestone in history of Indian civilization from the nationalistic point of view following the
discoveries of Harappa and Mohenjodaro. R.D. Banerji, M.S. Vats, D.R. Sahani, N.G. Majumdar and
Hargreaves excavated serveral Harappan sites. These sites provided a tangible evidence of an Indian
civilization going back to the fourth-third Millennium B.C. 1930s saw development in field of prehistoric
research with Burkitt and Cammiade’s survey. H. de Terra and Paterson undertook scientific expedition
studying geomorphological, archaeological and palaeontological survey of Kashmir potwar and Jammu
regions. Todd was first to report on Upper Palaeolithic industry from Bombay province. Wheeler introduced
the concepts of stratigraphy and planning in Indian archaeology and carried out excavations across India.

frafeiad SR &1 ufeu Sk 1= f4u 10 i el & SR gl ;

HR. 1. §T5il. UH. UH. e, 1. 3R, FE-11, T, St AuHER 3R gRiUed gRI §5WI SR Higaias! &l
G & HHH Bs gl RA & Y T oF ¥ TIPERIUN E YR 1041 & Siderd 1§ 9 1920
@1 a8 U Ui DT IR g g1 54 QRRyal - =91l diesl Sevdrsg! 5. 9, & YRd1g 999d1 gq 5d wied
T 1| gabie 3R DTS & Fd&ur = ay 1030 P aX@ U URIEINGD XY & &= T [der a1 U=,
3. ¢ 3R fUexs SR, Uid aR SR S0y &3 1 Y-311pid [a3, QRIdmd® SR wioft-fasm & e
3 a1 siermH faan| TS yed aufdd 4, forgia and W ¥ S QRIUIIOre e & wiadfed &
%mmaﬂmﬁmmﬁuﬁawﬁﬁﬂw%wﬁwﬂwﬁmﬁﬁwm

!

Which of the following sites was not excavated by Wheeler ?

. Taxila

. Harappa

. Brahmagiri

. Attirampakkam

b=

N ]

(1) 1
(2) 2
(3) 3
(4) 4

frafeiad gered § gior 3 feder @11 1ol fbar 4t 2
1. g
2. 59
3. SRR
4. JfoRAYFHH
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=15993]
2[Option ID=15994]

3[Option ID=15995]
4[Option ID=15996]
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Read the given passage carefully and answer the questions that follow :

1920s was a milestone in history of Indian civilization from the nationalistic point of view following the
discoveries of Harappa and Mohenjodaro. R.D. Banerji, M.S. Vats, D.R. Sahani, N.G. Majumdar and
Hargreaves excavated serveral Harappan sites. These sites provided a tangible evidence of an Indian
civilization going back to the fourth-third Millennium B.C. 1930s saw development in field of prehistoric
research with Burkitt and Cammiade’s survey. H. de Terra and Paterson undertook scientific expedition
studying geomorphological, archaeological and palaeontological survey of Kashmir potwar and Jammu
regions. Todd was first to report on Upper Palaeolithic industry from Bombay province. Wheeler introduced
the concepts of stratigraphy and planning in Indian archaeology and carried out excavations across India.

frafeiad SR &1 ufeu Sk 1= f4u 10 i el & SR gl ;

HR. 1. §Toll. UH. UH. e, SI. 3R, FE-11, T, St AeHER 3R gRiUed GRI §5WI 3R Higaias! &l
G & HHH Bs gl RA & Y T oF ¥ TIPERIUN E YR 1041 & Siderd 1§ 9 1920
@1 a8 U Ui DT IR g g1 54 QRRyal - =91l diesl Sevdrsg! 5. 9, & YRd1g 999d1 gq 5d wied
T 1| gabie 3R DTS & Fd&ur = ay 1030 P aX@ U URIEINGD XY & &= T [der a1 U=,
3. ¢ 3R fUexs SR, Uid aR SR S0y &3 1 Y-311pid [a3, QRIdmd® SR wioft-fasm & e
3 a9 stermA fan ofs ygd oufdd 9, forein ardl Ui-d 9 S=F QRITSIO 391 &1 widafad fdar|
gﬁ%mmaﬂmﬁmwﬁuﬁawﬁﬁﬂw%wﬁ@wﬁmﬁxﬁm

!

The first exploration report of Bombay was published by :

. J. Todd

. J. Burgess

. V.A. Smith
. J. Fergusson

b3 =

N N

(1) 1
(2) 2
(3) 3
(4) 4

G &1 YUYW Tdem ufaded fead gr1 U ird faar man 2

1. O. T8
g

'.q.ﬁru
e

a2

al gp gl

e

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=15997]
2[Option ID=15998]

3[Option ID=15999]
4[Option ID=16000]

Sl. No.101
QBID:7201001




The following table shows population of five villages A-E and percentage distribution of males (M), females (F)
and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. . Distribution (%a)
Village Total Population 7 : =
A 12,000 46% (-] 22%
B 16,000 -) 33% 27%
C 18,000 32% 36% (-)
D 24,000 36% (-] 20%
E 25,000 =) 30% 25%

Note : In table (-) denotes missing value (%), which is to be computed whenever required.
frafaiad aifcre! A-E i 7iial &1 &l 3R 378 03N (M), A (F) SR Tioisx & HidRd [ad=or &1
guicll 81 59 difcreT 1 f3U 7T Sies] & MR IR Uy BT 3R allold:

HTSTE! T ATHGR faeavol
o o TR ufcard 26
al od M F i
A 12,000 46% i(-) 22%
B 16,000 (-) 33% 27%
C 18,000 32% 36% (-
D 24,000 36% (-} 20%
E 25,000 (-) 30% 25%
ie: aifere B Rad 9 31 (-) §RT 1101 741 § [5udT uRe e SaaedlaR fadl o1 5|
Transgender population in Village - A is % of the female population in Village - B.
1. 75
2.50
3.3333
4. 66.66
1) 1
(2) 2
3) 3
(4) 4
Tt A H Tigoie 31 sard! g B & Bfgansi o1 srard &1 %8l
1.5
2.50
3.33.33
4. 66.66
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=16401]
2[Option ID=16402]
3[Option ID=16403]
4[Option ID=16404]
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The following table shows population of five villages A-E and percentage distribution of males (M), females (F)
and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. . Distribution (%a)
Village Total Population 7 : =
A 12,000 46% (-] 22%
B 16,000 -) 33% 27%
C 18,000 32% 36% (-)
D 24,000 36% (-] 20%
E 25,000 =) 30% 25%

Note : In table (-) denotes missing value (%), which is to be computed whenever required.
frafaiad aifcre! A-E i 7iial &1 &l 3R 378 03N (M), A (F) SR Tioisx & HidRd [ad=or &1
guicll 81 59 difcreT 1 f3U 7T Sies] & MR IR Uy BT 3R allold:

SIS BT UTHAR [gaxor

o o TR ufcard 26

d gﬁ M F T
A 12,000 46% i-) 22%
B 16.000 (-) 33% 27%
C 18.000 32% 36% (-)
D 24000 36% (-} 20%
E 25.000 (-) 30%, 25%

ie: aifere B Rad 9 31 (-) §RT 1101 741 § [5udT uRe e SaaedlaR fadl o1 5|

Find the difference between male population in Village - E and female population in Village - D.

1. 890
2. 830
3.680
4. 610
1) 1
(2) 2
3) 3
(4) 4

i £ H g2l S SH1a1e! SR i D H Afgansd &1 el & «i€ $1 3R dha 82

1. 890
2. 830
. 690
610

(1) 1
(2) 2
3) 3
(4) 4

e a2

1[Option ID=16405]
2[Option ID=16406]
3[Option ID=16407]
4[Option ID=16408]
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The following table shows population of five villages A-E and percentage distribution of males (M), females (F)
and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. . Distribution (%a)
Village Total Population 7 : =
A 12,000 46% (-] 22%
B 16,000 -) 33% 27%
C 18,000 32% 36% (-)
D 24,000 36% (-] 20%
E 25,000 =) 30% 25%

Note : In table (-) denotes missing value (%), which is to be computed whenever required.
frafaiad aifcre! A-E i 7iial &1 &l 3R 378 03N (M), A (F) SR Tioisx & HidRd [ad=or &1
guicll 81 59 difcreT 1 f3U 7T Sies] & MR IR Uy BT 3R allold:

SIS BT UTHAR [gaxor

o o TR ufcard 26

d gﬁ M F T
A 12,000 46% i-) 22%
B 16.000 (-) 33% 27%
C 18.000 32% 36% (-)
D 24000 36% (-} 20%
E 25.000 (-) 30%, 25%

ie: aifere B Rad 9 31 (-) §RT 1101 741 § [5udT uRe e SaaedlaR fadl o1 5|

Find the ratio of population of transgenders in Village - C to population of males in Village - B.

1.9:10
2. 78
3.34
4. 27:32
(1) 1

(2) 2

3) 3

(4) 4

Tifd ¢ I giEeis SR 7iia B § G20 &1 a1 T S9Td J1d Do |

0

I =
[S RN =
)

FR |

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=16409]
2[Option ID=16410]

3[Option ID=16411]
4[Option ID=16412]

Sl. No.104
QBID:7201004




The following table shows population of five villages A-E and percentage distribution of males (M), females (F)
and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. . Distribution (%a)
Village Total Population 7 : =
A 12,000 46% (-] 22%
B 16,000 -) 33% 27%
C 18,000 32% 36% (-)
D 24,000 36% (-] 20%
E 25,000 =) 30% 25%

Note : In table (-) denotes missing value (%), which is to be computed whenever required.
frafaiad aifcre! A-E i 7iial &1 &l 3R 378 03N (M), A (F) SR Tioisx & HidRd [ad=or &1
guicll 81 59 difcreT 1 f3U 7T Sies] & MR IR Uy BT 3R allold:

SIS BT UTHAR [gaxor

o o TR ufcard 26

d gﬁ M F T
A 12,000 46% i-) 22%
B 16.000 (-) 33% 27%
C 18.000 32% 36% (-)
D 24000 36% (-} 20%
E 25.000 (-) 30%, 25%

ie: aifere B Rad 9 31 (-) §RT 1101 741 § [5udT uRe e SaaedlaR fadl o1 5|

What 1s the difference between number of males and females in Village - A ?

1. 480
2.1920
3. 1120
4. 1680
1) 1
(2) 2
3) 3
(4) 4

Tifd A T gl 3R Afgars &1 e & di9 &1 3R [dha 82

480
. 1920
1120
. 1680

(1) 1
(2) 2
3) 3
(4) 4

=

e a2

1[Option ID=16413]
2[Option ID=16414]
3[Option ID=16415]
4[Option ID=16416]

Sl. No.105
QBID:7201005




The following table shows population of five villages A-E and percentage distribution of males (M), females (F)
and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. . Distribution (%a)
Village Total Population 7 : =
A 12,000 46% (-] 22%
B 16,000 -) 33% 27%
C 18,000 32% 36% (-)
D 24,000 36% (-] 20%
E 25,000 =) 30% 25%

Note : In table (-) denotes missing value (%), which is to be computed whenever required.
frafaiad aifcre! A-E i 7iial &1 &l 3R 378 03N (M), A (F) SR Tioisx & HidRd [ad=or &1
guicll 81 59 difcreT 1 f3U 7T Sies] & MR IR Uy BT 3R allold:

HTSTE! T ATHGR faeavol
o TR ufcard 26
g P Hld H i T T
A 12,000 46% i(-) 22%
B 16,000 (-) 33% 27%
C 18,000 32% 36% (-
D 24,000 36% (-} 20%
E 25,000 (-) 30% 25%
ie: aifere B Rad 9 31 (-) §RT 1101 741 § [5udT uRe e SaaedlaR fadl o1 5|
Total number of females in Villages B and D together is % more than the number of males in Village
s
1. 275
2.225
3.125
4.
(1) 1
(2) 2
(3) 3
(4) 4
7ifd B 3R D 31 § U Wiy Higensdl o1 oo W01 71id ¢ H Gosl o1 9 3 fda- wiawrd sifies 82
1.275
2.225
3.125
4. 175
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=16417]
2[Option ID=16418]
3[Option ID=16419]
4[Option ID=16420]

Sl. No.106
QBID:7201006




In ADDIE model of instructional design framework, the letters I and E in the acronym ADDIE pertain to

. Identification and Evaluation

. Implementation and Evaluation

. Identification and Examination

. Implementation and Examination

k2 =

R ]

(1) 1
(2) 2
(3) 3
4) 4

SR (&S5 EUvdl &5 ADDIE (US[8135%) Alsd 1 yRkaufl Weg ADDIE & &R I 3R E foad
T

1[Option ID=16421]
2[Option ID=16422]
3[Option ID=16423]
4[Option ID=16424]

Sl. No.107
QBID:7201007

Students participating in online classes are taught by an instructor. Following the lesson, the instructor intends
to incorporate reading materials (e-content, Power point presentation, etc.) that can be viewed by the students.
What option would instructor choose ?

1. Content creation tools
2. Networking tools
3. Learning Management System (LMS)
4. Links of the websites
(1) 1
(2) 2
3) 3
(4) 4

IS D13 § YFT o T8 [aenfial &1 U e UgTdl ¢ | UIs & dia Sa=i® Ja4-ard] (e-favg
T, UTeR W@ige Wi S1i) 59 3530 ¥ Sad $Rdl ¢ 1d [aemll 396 sl &= 9d | 38 [y
IICD HI-Y [ddred ST 987 S

1. fawaasg Fofor s
2. eafldil IS
3. JTETH WEY= TUITal (TauHUe)
4. deqEcy & fds
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=16425]
2[Option ID=16426]




3[Option ID=16427]
4[Option ID=16428]

Sl. No.108
QBID:7201008

Which of the following does not come under primary laws of learning ?

1. Law of effect
2. Law of Readiness
3. Law of Multiple response
4, Law of exercise
(1) 1
(2) 2
3) 3
(4) 4

frafaiad ® oi=-a1 fFaw st & arafie Faal o siavid 76l s g2

1. UHTd &1 FgH
2. dod¥al &1 FaH
3. g U &1 (g9
4. 3O &1 gy
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=16429]
2[Option ID=16430]

3[Option ID=16431]
4[Option ID=16432]

Sl. No.109
QBID:7201009

Given below are two statements :
Statement I : Project method is best associated with the Philosophy of John Dewey.

Statement II : The strength of Project method lies in social participation.
In the light of the above statements. choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.

. Statement I 15 correct but Statement II 1s incorrect,
. Statement I is incorrect but statement II is correct.

(1) 1
(2) 2
(3) 3
4) 4

bd o=

e T2




R TRy E:

HUA 1 : Uieder fafY ol 3t & g% 9 Haiiu® =9 9 Fald |

B 11 - TS fafer &t Hererar ST wicrHiia & Higd g1

SWRIF Y & 3aid H, i U T fde el § 8 a8 3ugad 3R &1 99 SIS

1. BYFI AR IS F8l € |
2 BYFI RIS I © |
3. PUTITel e, A FU I TEd | |
4 PYTITEd e, AT YT I Tl g |

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=16433]
2[Option ID=16434]
3[Option ID=16435]
4[Option ID=16436]

Sl. No.110
QBID:7201010

For Undergraduate educational programmes. courses on SWAYAM Platform have been developed by :

A NPTEL

B. IIM Ahmedabad
C. AICTE

D. CEC

E. IIM Bangalore
F. UGC

Choose the most appropriate answer from the options given below :

.A,C.D and E Only

.B. D, and F Only
3.A.D.E and F Only
4. C,E and F Only

(1) 1

(2) 2

(3) 3

(4) 4

=




Dﬁgﬁﬁﬁ@ﬁﬁﬁ%ﬁﬁ@ﬁ(m&&m&ﬂ?ﬁ&ﬁ@m 3R uTeusH [Fad gRI faefad g
el

A TUIREd

B. 35 3{ISUH, SEHAEIG
C. TaTsdidty

D. Hiedt

E. 35 35UH, STTeR

F. fg.ar.3fm
- fqu T fam el § ¥ gad Sugad SR &1 997 Difeld:

1. AT A, C,DARE
2. %A B, D AR F
3. %A A, D, E ARF
4. HAAC,E 3R F

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16437]
2[Option ID=16438]

3[Option ID=16439]
4[Option ID=16440]

Sl. No.111
QBID:7201011

While reading research paper or research reports, often one comes across the abbreviation 'viz', which means

. for example
. namely

. against

. refer to

(1) 1

(2) 2

(3) 3

(4) 4

QY 3TeRg 1 STe iade (RAIS) Tegd THg wih: SfAer viz 31T 8, 59@1 o &

1. Jaeony
2. THa:/3iufd
3. & ava
4. F T
(1) 1
(2) 2
(3) 3
(4) 4

| S

N S

1[Option ID=16441]
2[Option ID=16442]
3[Option ID=16443]
4[Option ID=16444]

Sl. No.112
QBID:7201012




A student submits Ph.D. thesis in a university. Upon scrutiny. it 1s found that his/her thesis has a similarity
content of 35%. This would fall in which of the following categories of plagiarism according to UGC
regulations ?

.Level 0
.Level 1
.Level 2
.Level 3
(1)1
(2) 2
(3) 3
(4) 4

U faenedf vs faufgeran § smom dh.u= 3t oy Udy S0 Sal & | 396 MY UaY S UdTel &3 IR
3| fauTaq & 35% HFT H FHEYAI Ul Ol ¢ | [ayidenad SFEaH S & [ adl & orER
frafeRad o 3 gg Tifed Il & fod TR T Sidl 82

1.XED
2. %R 1
3.5 2
4, %X 3

(1) 1

(2) 2

(3) 3

4) 4

B L R

1[Option ID=16445]
2[Option ID=16446]
3[Option ID=16447]
4[Option ID=16448]

Sl. No.113
QBID:7201013

The part of research paper that gives an overview of the field to be investigated and the investigator's
hypotheses about the research outcome, is called

. Abstract

. Introduction
. Results

. Method

(1) 1
(2) 2
3) 3
(4) 4

Y 3TeE BT g W s Uiy & fawy 89 &1 fagmadie iR oy & ey & aR § 3-3y® &1
RT3 &1 Soad 36T oIl 8, 39 ®el 5l &:

e L b o~

1[Option ID=16449]




2[Option ID=16450]
3[Option ID=16451]
4[Option ID=16452]

Sl. No.114
QBID:7201014

A study in which a group of participants is observed and measured over a period of time, refers to

1. Longitudinal Research
2. Archival Research
3. Cross-sectional Research
4. Correlational Research
(1)1
(2) 2
(3) 3
(4) 4

U AT forgs Uiy & U §Hg &1 Us PIa @iy § UeiT 3R 719 [l Siidl 5, 39 $el &ildl &:

e Ty
 QRIeE WY
U QY
g Hdy Ty
1) 1
(2) 2
3) 3
(4) 4

R

1[Option ID=16453]
2[Option ID=16454]
3[Option ID=16455]
4[Option ID=16456]

Sl. No.115
QBID:7201015

Given below are two statements :

Statement I : In case of qualitative phenomena, we have data on the basis of presence or absence of an
attribute or more than one attribute.

Statement II : With such data as mentioned in Statement I above the sampling distribution may take the form
of a Binomial probability distribution.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II 1z false.
4, Statement I is false but Statement IT is true.

(1) 1
(2) 2
(3) 3
4) 4




TR eEfume:

DU 1 : UMD URHST & eFia/HY §, 9 U U1 Ud U iU [RIvdIsi/a&0 &1 Jufkuid sid

IR & SMTYR TR 3w ST TIfed TR B

HYA 11 : IUE HYA-1 H Sfewiad stidvs! o1 ufed faavur fgudiy witesdr faavur & = 1 g1 9ol g |
SRIFd YA & ATAS ¥ = 50 v Gwedi § ¥ Ut 3R &1 999 Sifog:

1L PYTIRISAI TS |
2. P AR I SH] AR |
3. YT I 9, AP PYT I T ¢ |
4 FYI AR, AFTFUHE I T E |
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16457]
2[Option ID=16458]

3[Option ID=16459]
4[Option ID=16460]

Sl. No.116
QBID:7201016

Every society, because of communication, reflects a sense of

1. Commonality
2. Doubt
3. Indifference
4. Animus

(1) 1

(2) 2

(3) 3

4) 4

to most extent.

Tid ST YUY & SR 95d 88 dP @1 UG &1 wiafafiad Searg |

1. T
2. 448
3. el
4.fogw
(1) 1
@) 2
(3) 3
(4) 4
1[Option ID=16461]
2[Option ID=16462]

3[Option ID=16463]
4[Option ID=16464]

Sl. No.117
QBID:7201017




On the negative side, communicative language 1s used to :

A, Extend democratic debates
B. Suppress truth

C. Divide the society

D. Permeate ethnocentrism

E. Support global peace efforts

Choose the correct answer from the options given below :

(4) 4

THRIES T& D drd D= ol SUSUTT ST 1 WanT fohar &1 &:

A. i dilie drg-fdarg @l gg+ @ oy
B. I &1 0 &3 & faU

C. JHIS & gie & g

D. Yllfd-d-=1gdl &l IR @3 & g
E. 9fie ifa v & gaa & ford

- fu e fasedl 9 9l Ok I
1.BAAA, B, C

1[Option ID=16465]
2[Option ID=16466]
3[Option ID=16467]
4[Option ID=16468]

Sl. No.118
QBID:7201018

Given below are two statements :

Statement I : Communication, culture and power are inter-related.

Statement II : Socio-cultural values when communicated do not have any weightage of power.

In the light of the above statements, choose the correct answer from the options given below :

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I 1s true but Statement II is false.
. Statement I 1s false but Statement II 15 true.
(1) 1

e L b2




(2) 2
(3) 3
(4) 4

TR T REmE:

HYA 1 HUYUT, TpId SR fdd 3o Hafdd 8id 8

HUF 11 : TN & GLTd AHISID-TRG D Jeuli 8 QG &1 $15 doi el 36 ol g
SIRIdd Y & 3HTaiid H, 1< fau MT fdeedl § 3 96l S o1 994 ST

L. BYFIAR IS T E |
2. PYTI R 11 SHT ST © |
3. PUTITA . AP PYT I JTT ¢ |
4 PYFI I, AP FUHE I TIE |
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=16469]
2[Option ID=16470]
3[Option ID=16471]
4[Option ID=16472]

Sl. No.119
QBID:7201019

Modern communication technology has converted words into

A. A tool of equality

B. Time

C. A tool of unwarranted peace
D. Money

E. Power

Choose the correct answer from the options given below :

A, B. C Only
'B. C. D Only
.C,D. E Only
'B.D.E Only
(1) 1
(2) 2
3) 3
(4) 4

il S




YT TR T - el & HuRkafdd @ fgar g:

AgOATI S YA S E9H

B. a0 H

c. 3Ufga Tifd Sl gfdd & =u o
D.¥9HFUH

E. Yfed & &9 d

= f4u e fad el O O Jel 3T &1 994 Difos:

1.Bdd A, B, C
2. %ddB,C,D
3. %Add C, D, E
4. $ddB,D, F

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=16473]
2[Option ID=16474]

3[Option ID=16475]
4[Option ID=16476]

Sl. No.120
QBID:7201020

Given below are two statements :
Statement I : The semantic code in communication deals with character and characterisation.

Statement II : Roland Barthes describes this code as the voice of the person.
In the light of the above statements. choose the correct answer from the options given below :

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I 1s true but Statement II 1is false.
. Statement I 1s false but Statement I 15 true.
(1) 1
(2) 2
(3) 3
(4) 4

TR A PRI E

HY 1 HUSUT H 372Richd T e U iR 01 ¥ Hafdd giar |

U 11 - e G159 e DI Afdd DI AT B I G B

IR HYH & ATelld 1, A1 S0 T fawedl T I Ul IR &1 904 DI

1L PYTIR IS TIE |
2. FYAT AR I SH] AR |
3. YT 9, AP PYT I JTT ¢ |
4. DY I, BT FYUT I I E |
1) 1
(2) 2

F L S




(3) 3
4) 4

1[Option ID=16477]
2[Option ID=16478]
3[Option ID=16479]
4[Option ID=16480]

Sl. No.121
QBID:7201021

A shopkeeper purchases a packet of 60 pens at Rs. 10 per pen. He sells a part of the packet at a profit of 40%.
On the remaining part, he bears a loss of 20%. If his overall profit on the whole packet 15 20% of , find the
number of pens he sold at profit.

40
30
20
35

il B

(1) 1
(2) 2
(3) 3
4) 4

U gDHMaER 10 $UU Ul HIH i &2 § 60 HAH & U Jdhe &l @RIadl 6| 98 Udie & Ud HFT Pl 40%
& T TR §9d1 8 | U9 U TR FH 20% 1 81 8idl & | Tl I8 ol Uebe WX el dlY 20% &Il 8, a9
SOH P a8 T J1d Pifort ol 9= Ay W

ad bg Taa e
L e T e O e

il

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16481]
2[Option ID=16482]

3[Option ID=16483]
4[Option ID=16484]

Sl. No.122
QBID:7201022

A batsman scored 98 runs in his 17th match . As a result his average runs per match increased by 2.5. What

was his average before playing 171 match ?

el e
O L

LA

Lh Lk

oy L
b= e
Lh Lh

(1)1
(2) 2
(3) 3
(4) 4




U@ gead (e RaaTsh) 170 T4 H 08 I F-1A1 ¢ | S9% G0 WY 39@ Hiadg a3 5 2.5
¥ @1 g B ol g1 < 1781 79 Wa- & Ugd 9] S{d fda-T ur

Ln
Lh

Sl
(SRS T )
— G0 O Lh
Lh Lh Lh

Faie

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=16485]
2[Option ID=16486]

3[Option ID=16487]
4[Option ID=16488]

Sl. No.123
QBID:7201023

Water level of a river increases and decreases by 10% on alternate days in the rainy season. What shall be the
increase or decrease in the water level at the end of second day, as compared to the initial water level ?

% of increase
1% decrease
. 1.5% increase
. 1.5% decrease
(1)1
(2) 2
(3) 3
(4) 4

AN P TG TP 41 & TR § Ud e 10% B JiG il & Ud GO o 10% P HHI gl ¢ | 3RS
SR @1 g1 H g3 fa & 3id | ofear H fobd- ufawrd & gfg 3rar ot g1 wineeih

b =

e T2

1[Option ID=16489]
2[Option ID=16490]
3[Option ID=16491]
4[Option ID=16492]

Sl. No.124
QBID:7201024

There are two numbers such that the sum of twice the first number and thrice the 289 number is 39. Also the
sum of thrice the first number and twice the 2nd number is 36. The largest of the two numbers is ?




(3) 3
(4) 4

a1 TR0 g9 UBR <t 1 B Fores uys S & Gl SR g3l SRe1 & a7 1 4l 30 & ol ygell Fe
& AT iR G101 & N[ &1 a1 36 5| il SeaTsl O 9 9! 61 B H-41 52

btk
(o]

Faibe
o

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=16493]
2[Option ID=16494]

3[Option ID=16495]
4[Option ID=16496]

Sl. No.125
QBID:7201025

If SEARCH is coded as 214673 and CHART 1s coded as 73465, then what will be the code for TEACHER. 7

. 5147316
5174136
. 5143716
. 5413716
(1)1
(2) 2
3) 3
(4) 4

gf& SEARCH B1214673 & U T Heas (601 1 § SR CHART &1 73465 & &4 1 Heag [T I 5|
9 TEACHER &I {4 tRE ¥ Dedg [l S

| S

R ]

. 5147316
. 5174136
. 5143716
.5413716
(1) 1
) 2
(3) 3
4) 4

=

ES 5

1[Option ID=16497]
2[Option ID=16498]
3[Option ID=16499]
4[Option ID=16500]

Sl. No.126
QBID:7201026

"Today on average we can look forward to a longer life span than the generation before us. It is obvious that it
has been possible only and only because of the millions of dedicated doctors who have ensured our good
health". Identify the fallacy committee in the above argument from the following options ?

. Hasty Generation

. False Cause

. Slippery slope

Appeal to unqualified authority

:h.!..uh.)l—l

1) 1




(2) 2
(3) 3
(4) 4

HIHTIG: TS §H 30 g Uie! B fUe Tall Sitd--afdl B U= &R Jobd § | I8 WY ¢ & U9l had
Ral FATUd SRl @ SRUIEHE 5311 8 | 581 81 o= Wy 1 gHidd fovar 8 | Sudax a8
frafafred faeed 9 db 19 S UgaH S|

1. Hfaarid grE=ie
2. T
3. flhoe-gad Haurdr
4. UG WIYHR 38
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=16501]
2[Option ID=16502]
3[Option ID=16503]
4[Option ID=16504]

Sl. No.127
QBID:7201027

If the statement "All cricketers are rich persons’ is given as true which of the following statements can be
inferred to be false ?

A. No cricketers are rich persons.

B. Some cricketers are rich persons.

C. Some cricketers are not rich persons.
D. Some rich persons are cricketers.

Choose the correct answer from the options given below :

1. B and C Only
2. A and C Only
3.B and D Only
4. A, B and C Only
(1) 1
(2) 2
3) 3
(4) 4

gﬁ:ﬁmmﬁfwatﬂaqﬁ%rﬂﬁ%ﬁ[ﬁq%ﬁaﬁﬁﬁﬁﬁ-maimw 3HI=d o o g
[

A. BT fhahex o= ofad el & |
B. T fhdhex o aafda g1
C. T fohdrex o= aafd Al o
D. T Yl oifad e g |

1= fqu ¢ fdeedt § O Hel SR o1 994 ST

1. Had B 3R C
2. Had A AR C
3. $ad B AR D
4. BATA, B3R C




1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16505]
2[Option ID=16506]

3[Option ID=16507]
4[Option ID=16508]

Sl. No.128
QBID:7201028

Which of the following propositions are so related that they cannot both be true, although they both may be
false ?

A. All football players are rich persons.

B. No football players are rich persons.

C. Some football players are rich persons.

D. Some football players are not rich persons.

Choose the correct answer from the options given below :

.Aand B Only
. A and D Only
. Cand D Only
.B and C Only
(1) 1
(2) 2
3) 3
(4) 4

mﬁﬁ.@mwwﬁﬁm%%ﬁﬁﬁﬁmﬁuﬂrﬁa‘cﬁnﬂﬁﬁ
|

A Tt peara et o=t afdd €|

B. ®ls Beard [Gars! e oafdd 7ol o |

C. T Peard Raars! o= ofdd g

D. T© Geald aare! &=l aafad 7ei o |

=1 f4U 7T gl § I 9l IR &1 94 Difel:

1. Hdd A AR B
2. BT A ARD
3. %dd C 3R D
4. HIAB AR C

(1) 1

(2) 2

(3) 3

(4) 4

]

1[Option ID=16509]
2[Option ID=16510]
3[Option ID=16511]
4[Option ID=16512]
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Which of the following propositions are logically equivalent ?

A. No dogs are aggressive animals.

B. No aggressive animals are dogs.

C. All dogs are non-aggressive.

D. Some dogs are not aggressive animals.

Choose the correct answer from the options given below :

. C and D Only
Aand D Only

. A, B and C Only
.B and D Only
(1) 1

(2) 2

3) 3

(4) 4

fFafaRad o eH-d giosieal dfds w4 3 auge €|

A. BIg i T TP TaR ol o |
B. Pl il SThTHS SR T1l ol o
. 91 Pl TR-3MTHTHD § |

D. TS Tl SHHP oHaR 7ol 6|

=14 f4U 7T fas el § O 9l IR &1 944 Difel:

1.%dd C AR D
2. BT A IRD
3. Pad A, B3R C
4. HIAB ARD

1) 1

) 2

3) 3

(4) 4

il S

1[Option ID=16513]
2[Option ID=16514]
3[Option ID=16515]
4[Option ID=16516]
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Given below are two Statements :

Statement I :According to classical Indian school of Logic, namely Nyaya. we ascertain the relation of
unmiversal concomitance between x and y by perceiving that in all cases the presence of x 1s accompanied by
presence of v, and not perceiving any instances to the contrary.

Statement II : Classical Indian materialists argue that universal relation between two events cannot be
established, there being always a room for doubt about the unobserved cases.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both statement I and Statement II are false.
3. Statement is true but Statement IT is false.

4, Statement I 1s false but Statement I is true.




(1) 1
(2) 2
(3) 3
4) 4

T pyFfRum E:

FUF 1 : VRGN YR TR 19 T 6 HTIR 89 x 3R y & did FaHm Fgaidadl Hi%d 3 o
gl gty 7 x o1 IufRufa & Ty y Bt SufRufd gidl 8, 3R 58 faadid &1S =vid 7gi 81

FHYF 11 : TG YR Hifdmardt o od § & el af alge i & d ardyife dey wifia =gt
fopa o Taar © Tife miferd fawal & IR ¥ 9ed ¥eg & YT eidl 8|

QRIGT HY- & AT H A1 14U U [qaedi § I el 3R &I 944 I

1L BYFIAR IS A § |
2. FYAT AR I SHT TR |
3. PUTITA ., AP PYT I HTT ¢ |
4. FYFTI 3T, AT SUT I TT T |
1 1
(2) 2
3) 3
(4) 4

1[Option ID=16517]
2[Option ID=16518]
3[Option ID=16519]
4[Option ID=16520]
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Which of the following applications A-C are built on top of open-source digital platforms ?

A Agadhar
B. Adobe Reader
C. COWIN

Choose the correct answer from the options given below :

A.Band C

. A and B Only
. B and C Only
. A and C Only
(1) 1

(2) 2

3) 3

(4) 4

B




FrafeRad wanT A-c T ¥ SH-51H 9 gad Hid 3o wepid W FHifd feu g

AL SR

B. USIg =
C. ®lldd

I fau ¢ fam el § 9§ T8l 3R &1 994 Bifor:

1.A.B3RC
2. FadAIRB
3. PadB AR C
4. BT AARC
1 1
(2) 2
(3) 3
(4) 4
1[Option ID=16521]
2[Option ID=16522]

3[Option ID=16523]
4[Option ID=16524]
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Given below are two statements :
Statement I : IBM was the most valuable worldwide IT brand in 2022.

Statement II : TCS and Infosys were the second and the third most valuable Indian brands respectively in the
IT services sector globally in 2022.

In the light of the above statements. choose the correct answer from the options given below :

. Both Statement I and Statement II are true

. Both Statement I and Statement II is false
3. Statement I is true but Statement II 1s false
4, Statement I false but Statement II 1s true

(1)1

(2) 2

(3) 3

(4) 4

B IE AL AIC N CURI I
HY ; STgaLE ay 2022 H fay 1R & Galfte geaar smect sis o

HYTIL: a9 2022 T agel Harsii o & I fay § SRy SR 31N Hw: Y 3R dias Jaiied
TeaH 3fgel YR &S A

IRIad HY & ATdiD H, A &0 770 fasedi § I Tl 3ax &1 98- DI

1. BYIIR IS TR |
2. P AR I SH] TAE |
3. FYTI9d ¢, AP HYT I 3T T |
4. YA R, APTFUHE I TIE |
(1) 1
(2) 2

b2 =




(3) 3
(4) 4

1[Option ID=16525]
2[Option ID=16526]
3[Option ID=16527]
4[Option ID=16528]
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Which of the following statements (A-C) are correct with reference to "Software as a Service (SaaS)" in cloud
computing ?

A SaaS users can access their data from any Internet-Connected computer on mobile device.

B. A web-based email service such as Outlook, Hotmail or Yahoo! Mail is a form of SaaS.

C. Saa$S buyers can customize the user interface to change the look and feel of the software, as well as
modify specific areas. such as a data fields.

Choose the correct answer from the options given below :

. A and B Only
. Aand C Only
B and C Only
A BandC

B =

(1) 1
(2) 2
3) 3
(4) 4

FISS DG H FUCAR Uol U Fdd (F) & e H FafaRad oy-l § 4 SH-5H 8 $U- 981 52

A. I 1T §eRT U s ot off HgeR sryar AlaTed SUBRUN § 30+ S % Ugd 9ad §

B. 3cq®, TIcHd YAl OTg I il 49 ST SHe 9al 99 &1 U6 &0 |

C. T ol TR &1 =4 3R Siufd uRafdd &3 3R Ser &41 o fafkiy &7 &1 =giaid &=
& [eRl Ve SIaRTgE & U] SHaUH TR §-1 96d ¢ |

i f4u 78 fdd el § T Tel 3k &1 9094 Difols:

1[Option ID=16529]
2[Option ID=16530]
3[Option ID=16531]
4[Option ID=16532]
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Which of the following communication technologies A-C are considered as short-range devices/technologies ?

A CCTV
B.RFID
C. WLAN

Choose the correct answer from the options given below :

1. Aand B Only
2. A and C Only
3.B and C Only
4, A.Band C

(1) 1
) 2
3) 3
(4) 4

a1 TUwor el A-c B ¥ {58 T XS ISR HIEifie! I oiidl 87

A IireTdt
B. {RUGHRS!
C. SETYULLA

=1 f4U 7T gl § I 9l IR &1 94 Difel:

1. Hdd A AR B
2. HadA AR C
3. HaAB 3R C
4. A B3R C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=16533]

2[Option ID=16534]

3[Option ID=16535]
4[Option ID=16536]
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In India, the term "Public Key Infrastructure” is used in the context of

1. Digital security infrastructure
2. Food securnty mfrastructure
3. Health care and education infrastructure
4. Telecommunication and transportation infrastructure
(1) 1
(2) 2
(3) 3
(4) 4




%I'R_rfff Hdul-ep Hgaqul SaeRaAT (Ufsdd B g3prgdeR) Fafarad | fewe dey o vainT fear s

1. P GI&T ST
2. TR GR&T SfaEyg-l
3. WY QT g 4T SaER=HT
4. IR IR R ad@z=-T
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16537]
2[Option ID=16538]

3[Option ID=16539]
4[Option ID=16540]
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What is the correct sequence of steps in Risk assessment related to environmental hazards 7

A. Risk characterization
B. Exposure assessment
C. Hazard Identification
D. Risk Management

Choose the correct answer from the options given below :

1.C,B,A,D
:

@0
oop
oww
=g

e T2

(1) 1
(2) 2
(3) 3
4) 4

TaiaRuiTg Gl O Gefid sifed geuid- & Hafafad def o ugt sHHH Ta1 82

A, SifgH fagdioro

B. SaYIHT JediHA
C. W=l BT Ug=H

D. SliRaH yge=
=4 feu 7t fas el § T 9l 3R &1 99 Difol:

EBLA D

1
2
3.
4

w0
2ol
Oww
B o g

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=16541]
2[Option ID=16542]




3[Option ID=16543]
4[Option ID=16544]
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National Solar Mission, one of the missions of National Action Plan on Climate Change (NAPCC) was
launched in the year

. 2009
. 2010
. 2011
2012
(1) 1
2) 2
(3) 3
(4) 4

oAy 9Rad- Tee AP B Ao (TR & = # 9 U A9y IR B o Fe d 3 g ad
Y feodT T U

B B O B

. 2009
. 2010
2011
2012

=

:l-".(..\-\:l

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16545]
2[Option ID=16546]

3[Option ID=16547]
4[Option ID=16548]
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Which one of the following has contributed maximum in sea level rise so far in the context of climate change ?

. Melting of Antarctic Ice-sheets

. Melting of Glaciers
3. Thermal expansion of oceanic waters
4. Melting of Greenland Ice sheets

1) 1

(2) 2

3) 3

(4) 4

gﬂﬁ@%%ﬂﬁﬁﬁa@g R & SR 364 1 ol ao FafafEa I 4 fget aeE siftean w61

1. TI&UT YA (80 91ax o1 [UueH]
. fer wusi @1 [y
 HENFRI §d &1 T4 TR
4. Ficives @1 i gre] o fuud

(1) 1
(2) 2
3) 3
(4) 4

k2 =

L b

1[Option ID=16549]




2[Option ID=16550]
3[Option ID=16551]
4[Option ID=16552]
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Out of different oxides of nitrogen which of the following are considered as Air Pollutants and known as NOx
5

A NO (Nitric Oxide)

B. NO, (Nitrogen dioxide)
C. NO; (Nitrogen trioxide)
D. N,0O (Nitrous oxide)

Choose the correct answer from the options given below :

.Aand B Only
.B and C Only

. C and D Only

. A, B and D Only
(1) 1

(2) 2

(3) 3

(4) 4

Tgclor & fafir semrgs] O 9 e o ¥ 65 a1y Ugue 91 ofidl § IR NO, & EU H JHI |l g

e faa bd —

A.NO (RIS HFHES)
B. NO, (ATSCIo STg aI5s)

C. NO, (AT5¢ISH T3 HIRIES)
D. N,0 (TI52H HHES)

= f4u e fas el & 9 Jel Ik &1 994 Difos:

1. 5dd A 3R B
2. FAAB AR C
3. %ad C AR D
4. Pad A, B AR D

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=16553]
2[Option ID=16554]
3[Option ID=16555]
4[Option ID=16556]
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The advantages of biodiesel over conventional petro diesel are :

A, Biodiesel produces significantly lesser CO, and SO,.

B. It is non-renewable

C. It has higher octane number

D. It can be used in any ratio with petro-diesel
E. It has lower flash point.

Choose the most appropriate answer from the options given below :

. A, B and C Only
.B. Cand D Only
A, Cand D Only
.C.D and E Only

(1)1
(2) 2
(3) 3
(4) 4

URURS UeISIod 31 UeT Sg-Sied & 9 5 T Fur-a oy 82

A. S-STed BTH! & CO, 3R S0, ITd BIAT 5 |

B. U8 R Adiaxuiig g

C. U e WAl AR g |

D. 59 Ul Stora & 1y et off srara § vt i o gaar g1
E. 5951 (449 Sao-id (g Wise)

-4 fau e famodl § € 94 Sugad So) &1 99 S

1. BAAA, B AR C
2. ®JAB, C AR D
3. HAAA, C AR D
4. %adAC, D IARE

(1) 1

) 2

(3) 3

(4) 4

L e

1[Option ID=16557]
2[Option ID=16558]
3[Option ID=16559]
4[Option ID=16560]
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Which of the following names of technology platforms has been mentioned in NEP-2020 through which
online training of teachers will be encouraged ?

A, SWAYAM
B. AYUSH
C. PARAKH
D. DIKSHA
E.NIT

Choose the correct answer from the options given below :

.B and C Only

. A and D Only
.A, Cand D Only
. A, B and E Only
(1) 1

(2) 2

3) 3

(4) 4

T3 e =ifa & FafaRad $9-8 Ueife 59 & 9 o1 Ioorg fovar a1 § fore arm 3 el &
3HATS HiRTeu S Hidied fdar siam?

A g

B. 1Y
C.Rd
D. gl&fl

E. TH3mscl
1= fqu ¢ fdeedt § O Uel SR o1 994 ST

R e

1[Option ID=16561]
2[Option ID=16562]
3[Option ID=16563]
4[Option ID=16564]
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In 1904, Curzon was the moving force behind the enactment of the Indian University Act which intended to
introduce radical changes into which of the following universities :

A. Calcutta

B. Bombay

C. Madras

D. Punjab (in Lahore)
E. Allahabad

Choose the most appropriate answer from the options given below :

. A, B and C Only
.C.D and E Only
.A,.C.Dand E Only
A B.C.Dand E
(1) 1

(2) 2

(3) 3

(4) 4

a9 1004 T YR [Gyiaeme fAHma & Sffae & g IRumd $oib o1 fogeT Sexa Fanfarad
o1 fagfaeneral 7 smya-ga gRacd-i &1 Y31 ST Ul

R e

A. Fasdl
B.dld

C. HgE

D. U9Td (ARR H)
E. STIGIEIG

-9 fau e famodl § € 98 S9gad STk &1 99 ST

1. BAAA, B AR C
2. HIAC, D IIRE
3.%au A, C,DIHRE
4. A B.C.D3RE

(1 1

(2) 2

(3) 3

(4) 4

1[Option ID=16565]
2[Option ID=16566]
3[Option ID=16567]
4[Option ID=16568]
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Given below are two statements :
Statement I : UGC is a central government organization established by an Act of Parliament in 1956.

Statement II : UGC has established five regional centres in order to ensure proper functioning.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct.

2. Both Statement I and Statement II are incorrect.

3. Statement I is correct but Statement II is incorrect.
4, Statement I is incorrect but statement II 1s correct.

(1) 1
() 2
3) 3
(4) 4

= < e U MY

HY 1 ; goird, 1956 H g B HYHae g1 wifud fea1 1 ue HEig WReR! |76 3
S 11 - goil! = gfad e & YA o & &8 § Ui &5 S o wiftd fFar g
SRIAI SYH & e H, e iU T fde el & 8 9oy SUge SR &1 99 B

1. BYFIARIIH T8I ¢ |
2. PYTI AR IS TTaa & |
3. YT I T6l 8, AT HUT 1 TTEd © |
4 PYFITETE, AT YT I Tl & |

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=16569]
2[Option ID=16570]
3[Option ID=16571]
4[Option ID=16572]
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Ministry of Environment and Forests, Govt. of India with the help of centre for Environment Education
(CEE). launched a National Environmental Awareness campaign (NEAC) in 1986 to increase
awareness about the environment in various target groups in the country.

1. Chennai
2. Ahmedabad
3. Delhi
4. Hyderabad
(1)1
2) 2
(3) 3
(4) 4




YRd PR & Talarv U4 o HATed - uaiaul e 3 as (S) B gemarg I g
fafay wiiérd Togl & Ao vgiaRv & aR 1 S dl H gis 8 a9 1986 H AP YF1aRUIG SRl
ST BT (ST 1 3 B

1. 9%
2. dgHaldlg
3. faeut
4. BEXIEIE
(1) 1
) 2
3) 3
(4) 4

1[Option ID=16573]
2[Option ID=16574]
3[Option ID=16575]
4[Option ID=16576]
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Which of the following 1s an important archaeological site declared by UNESCO as a world Heritage site in
1980 ?

. Takshshila
. Mithila

. Vallabhi

. Nalanda
(1) 1

(2) 2

(3) 3

4) 4

[Fafaiad 0 9 & Ue Aeayul RIAas S d © [orh®! J-e! gRI1ay 1080 H [d% eRIgY wd 9iiyd
fepar

1. e
2. i
3. gl
4, Alci<l

(1) 1

(2) 2

3) 3

(4) 4

b =

S

1[Option ID=16577]
2[Option ID=16578]
3[Option ID=16579]
4[Option ID=16580]
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Read the following passage and answer the question.
Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

* Mesopotamia - the valleys of the Tigris and Euphrates rivers
*» The lower Nile valley.
* The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean. in the Yellow River valley of China. in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced. wrrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop. The Minoan civilisation cities of
Knossos and Phaistos. which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.

fafafad ey o ufgu 3R Uy &1 IR 2|
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Based on the information given in the passage, arrange the following events in correct chronological order.

A. Emergence of the first cities

B. Neolithic Revolution

C. Invention of writing

D. The Minoan civilisation cities which flourished in Crete

Choose the correct answer from the options given below :

(4) 4

TR H e I & YR R 9 ge13i D1 981 SIapHI IR Haieyd i
A UYH G311 faufa
B. TqUTST0T BTl Pifd

C. T T Sf1fdshR
D. ®ic ¥ Jgad [ 99ar & we”

i U 7Y [ddedl § Uel 3R &l 99 $Iol:

1.A,B.C.D
2B C DA

o g
O
wllw

.B.A,C,
(1) 1
) 2
3) 3

(4) 4

e a2

1[Option ID=16581]
2[Option ID=16582]
3[Option ID=16583]
4[Option ID=16584]
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Read the following passage and answer the question.
Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

* Mesopotamia - the valleys of the Tigris and Euphrates rivers
*» The lower Nile valley.
* The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean. in the Yellow River valley of China. in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced. wrrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop. The Minoan civilisation cities of
Knossos and Phaistos. which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.

fafafad ey ot ufgu 3R Uy &1 3R 2|
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The term LICs in the passage most likely represents

. Lower Indo-China
Later Indus and China
. Low Income Countries
. Laos India and China
(1)1

(2) 2

(3) 3

(4) 4
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Read the following passage and answer the question.
Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

* Mesopotamia - the valleys of the Tigris and Euphrates rivers
*» The lower Nile valley.
* The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean. in the Yellow River valley of China. in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced. wrrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop. The Minoan civilisation cities of
Knossos and Phaistos. which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.

fafafad ey ot ufgu 3R Uy &1 3R 2|

TS 91508 el ifd g o1 WIRT AHI 5500 98 Ud WY el & sffauia ¥ Rfgd w9 & uiad=
@ qui & ferg b ur) o &3 T wduym 3 Tge artiois- 3fie aikad= gu, d o -

o TETICTHET - Sore R BRId edi $1 grfeai
. g e ardt
. Ry =di & e g3

915 ¥ YA PRI &4 & 54-118, =4 @l ddl 6] urel, g1éor gd uikmn sk s § e 919any
faeTéd 53| 56 YR Ugdl eI & EAd: 31 &A1 § 3MfaHia gai o oimel Tarsiigd! 9 91 6|

STt URadHI 1 59 @i & 7T ISR FaursIo el shifd 2t &l eI 8,000 5. U, §% | T 4 §afl
o U & UTeTq ST S SR W Y R UG RHgle St RR 1 3 arredt siiaaie o
HlcreTitd o= f&ar| Y 1 wild & ary R wiaitai [GeEd 551 9 918 37 Yad Wi 41 &l 9
Gt & 9T 5, gieuaral MS1, UTe A1l 3R UTq-fasi | T ST 4,000 5.9, §3M1 S ol
HTPR U] Hallvd He@ynl SR Ul Fiie 591 & i 1 Jedlsg] H goral 3R BId Aiedl &
‘Em%m%igﬂ%aﬁ &S Tlial & BRI gl g5 SR Uer ¥ uRkady gu fod R g 4
GHIGRW !

YT ER1 & PID| a8 § ARG $-% [0pRid o SIRY gU| fgdid SgHred 5.9, & UG & aRMH
ic O 9gAd [BHE 99dl & 9 3R e We3) &1 §ug] mﬁ@&%mqﬁﬁgﬂmﬁaﬁ
a?}ﬁnﬁu?%ﬁ aﬁ?mmﬂﬁwﬁ@aﬁﬁﬁmaﬁwwmaﬁ?ﬁm@ﬁaﬁ%

Which major development led to the transformation of villages in the plains between Euphrates and Tigris,
into urban centres ?

The Emergence of wheeled cart
. Neolithic Revolution

. Metallurgy

. Invention of Writing
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1) 1
(2) 2
3) 3
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Read the following passage and answer the question.
Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

* Mesopotamia - the valleys of the Tigris and Euphrates rivers
*» The lower Nile valley.
* The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean. in the Yellow River valley of China. in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced. wrrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop. The Minoan civilisation cities of
Knossos and Phaistos. which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.
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Arrange the following places where urban centres developed. in correct chronological order.

A Greece

B. Crete

C. Rome

D. The plains of river Indus

Choose the correct answer from the options given below :
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Read the following passage and answer the question.
Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

* Mesopotamia - the valleys of the Tigris and Euphrates rivers
*» The lower Nile valley.
* The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean. in the Yellow River valley of China. in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced. wrrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop. The Minoan civilisation cities of
Knossos and Phaistos. which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.
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Given below are two statements :
Statement I : Urban centres in China developed before they developed in the plains of Indus river.

Statement II : Trading centres developed much later than the first cities.
In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement I are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II 1s false
4. Statement I is false but Statement IT 1s true

(1) 1

(2) 2

(3) 3

4) 4
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